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Question Number : 1 Question Id : 9277598509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the letter-cluster series given below:

PBTP, XIZW, FPFZ, NWLE, VDRJ
Options :

1. ¥ XIZW

2. % FPFZ

3. ¥ NWLE

4. % VDRJ



Question Number : 1 Question Id : 9277598509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad S1aR-THg Y&l H TTeld U JTd Hifeie:

PBTP, XIZW, FPFZ, NWLE, VDRJ
Options :

1. ¥ XIZW

2. % FPFZ

3. ¥ NWLE

4. % VDRJ

Question Number : 2 Question Id : 9277598510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter-cluster series given below:

CGO17,1QU19, OAA22,? , AUM3I
Options :

1. % UPG26

2. ¥ UKG26

3. % VKG26

4. % UKG27

Question Number : 2 Question Id : 9277598510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad s1eR-THg SRael ¥ I Ug JTd SIfoid:

CGO17,1QU19, OAA22,? , AUM3I
Options :

1. % UPG26

2. ¥ UKG26




3. ¥ VKG26
4. % UKG27

Question Number : 3 Question Id : 9277598511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related word from the given alternatives:

Acoustics : Sound : : Numismatics : ?
Options :

1. ¥ Currency

2. % Light

3. % Numbers

4. % Colors

Question Number : 3 Question Id : 9277598511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau U fap ey O 9 Trafdd eg &1 I Y|

o] : &« : TR - 2
Options :

1. ¥ Hal

2. % YDl

3. % JEIR

4. % 70

Question Number : 4 Question Id : 9277598512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related word from the given alternatives.



HDFB : WSUQ : : JECK : ?
Options :

1. # TRYZ

2. ¥ YRTZ

3.¥ YTRZ

4. ¥ YRZT

Question Number : 4 Question Id : 9277598512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad us &, fau 7 fdewedl & O Tieifid s o1 IA1d &Y

HDFB : WSUQ : : JECK : ?
Options :

1. % TRYZ

2. % YRTZ

3. ¥ YTRZ

4. % YRZT

Question Number : 5 Question Id : 9277598513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain coded language, 'ilm pa nob' is written as 'look at stars', 'het jur pa' is written as 'stars glowing light' and 'kas ho jur' is written as 'light
of sun'. How is 'glowing' written in this code language?

Options :
1. ® pa
2. % jur
3. ¥ het

4. % paorjur

Question Number : 5 Question Id : 9277598513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

U fAfgd D HINT T, 'ilm pa nob' D1 'look at stars' [eRET ST, het jur pa' DI 'stars glowing light' foraT ST 3R 'kas ho jur' Gal "light of sun'
fora Siren| 3ty ff'glowing' Carecall BT

Options :

1. ® pa

2. % jur

3. ¥ het

4. % paorjur

Question Number : 6 Question Id : 9277598514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a row of 126 boys, the position of Mahesh is 54th from the top. Ramesh is fifteenth rank below Mahesh. What is the position of Ramesh from
the bottom?

Options :
1. ® 57
2. % 56
3. % 55
4, ¥ 58

Question Number : 6 Question Id : 9277598514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

126 ASHI Pt U Ufdd |, HE BT RIF SHW T 54 A1 8| I, AW I Uggd 3o -1 8 | T T - 1 J 1 32
Options :

1. ® 57

2. % 56

3. % 55

4. ¥ 58

Question Number : 7 Question Id : 9277598515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Five friends Aman, Ram, Shyam, Sonu and Rajat lives on separate floor of a 5 floor building,but not necessarily in the same order. The ground
floor is numbered 1, the first floor is numbered 2 and so on, the topmost floor is numbered 5.

Only one friend lives above the floor on which Shyam lives. Rajat lives immediately below Ram. Aman does not live on the lowermost floor.
Ram does not live on an even numbered floor.

Who lives on the floor
immediately above Sonu?

Options :
1. * Aman
2. % Ram
3. ¥ Rajat
4. % Shyam

Question Number : 7 Question Id : 9277598515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U7 I 3{F, I, T, T 3R Io7d U 5 AT &1 SHRT & S{e-3e HSTd IR X84 o, Afdh e -Tg| (b 341 o | 81 | Ydd Pl
TS 1 B, Ugall HioTd BT TRaT 2 8 3R 34} diE Tad S Ut HiTd ot T=AT 5 3 | T o dd IR 38T 8 3T SR had U (77 gdl g |
TSd I & Bl 7 IgaT 8| 3F T et dfra # 7Y T8 | | 79 U JH =T aTelt Hivid |R TgY W81 7

& 3l SR aTa dd IR B 8l 82
Options :
1. % 3HA
2. % H
3. ¥ o[d
4. % Y

Question Number : 8 Question Id : 9277598516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two statements are followed by two conclusions numbered I and II. You have to consider these statements to be true, even if they seem to be at
variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.



Statement:
No diamond is pearl.
Some pearl are bronze.

Conclusions:
(I) Some pearl are diamond.
(IT) No diamond is bronze.

Options :

1. # Only I follow

2. % Only II follows

3. % Either I or II follows

4. ¥ Neither I nor II follows

Question Number : 8 Question Id : 9277598516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferad uy & Y wy fRu U g oM a1e & e 1 9 11 fAT U § 3ueh! 39 Syl o T AT §, WA 81 d Jagnd i 3 i udta
gid gt fou e feersf & § &1 a1 feepef 3T 78 2= &1 difches &0 I ORI BT 7 |

HY:

s SRTAC T8T 8

FS Al HI g |
T

(1) B A ERIE

(I1) DTS ERT B T &
Options :

1. % $Had [T5HY [ 3ITRV Hal &
2. % Had (BN 11 SR Hl §
3. % gr ) fehy 1 a7 Fep 11 S0 BT §
4.« AT w17 8 e 11 SR HRaT @

Question Number : 9 Question Id : 9277598517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Three statements are followed by two conclusions numbered I and II. You have to consider these statements to be true, even if they seem to be at
variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:

All singers are scientist.
All scientists are pilot.
All pilots are doctor.

Conclusions:
(I) Some scientists are pilot.
(IT) All doctor are pilot

Options :

1. ¥ Only I follow

2. % Only II follows

3. % Both I and II follow

4. # Neither I nor II follows

Question Number : 9 Question Id : 9277598517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad gy & 5 oy e 7w g e a1e &) e 1 9 11 fRT U § 3iueh! 39 Y=l &) I A1 8, Hal 81 9 Fagnd awt 9 fie udia
gid 811 fou e fmef & § &1 a1 fepdf 3T 78 2= &1 difthes 0 ¥ ORI SR ] |

HhY:

Tt T R B
gt dsfae urgde B
g1t urreie SiaeR |
frepy:

(I) TS AP Urae g |
(1) It STaex urgere g
Options :

1. ¢ $acl Y [ 3TIRUT BT 3
2. % Had BN 11 IR0 Hal §




3. % QIFI S 1 T 11 3FIRRUT X &
4. % a1 ey 17 8 e 11 sFERu R 8

Question Number : 10 Question Id : 9277598518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three statements are followed by three conclusions numbered I, IT and III. You have to consider these statements to be true, even if they seem to
be at variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:

All girls are ambitious.
Some ambitious are lazy.
Some lazy are fast.

Conclusions:

(I) Some girls are lazy.

(IT) Some lazy are ambitious.
(IIT) Some ambitious are fast.

Options :

1. % Only I follow
2. % Only II follows
3. % Only III follows

4. % None follows

Question Number : 10 Question Id : 9277598518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad we o <9 wu= 3T U § o a1g 9 sl 1, 11 9 111 faU U § STU! 37 Bl & I JIFAT 8, Ul 81 d Ja1d a2t ¥ g
gdid gd 811 fau e feast & § &1 91 feepdf 3T 78 2 &1 difthes 0 ¥ ORI SR ] |




feem: .
OEEGENSERIEISESI
(1) $B 3N AgATHieN g
(1) $B Heamiel do ]
Options :

1. # $Had [5HY [ 3IERU Hdl §
2. ¥ Had fHY 11 S0 HdT &
3. % Had sy 111 3R Hal §
4. % DI TR TS PRAT §

Question Number : 11 Question Id : 9277598519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related number from the given alternatives.

196 :169 ::81:7?
Options :

1. ¥ 64

2. % 72

3. %100

4. % 144

Question Number : 11 Question Id : 9277598519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frEferRed U= & fau 7T fasb el # 4 JeaifRid &1 o1 98 Bl |
196 : 169 ::81:?

Options :

1. ¥ 64

2. % 72

3. %100



4. % 144

Question Number : 12 Question Id : 9277598520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the question below, a statement is followed by two conclusions. Study the conclusions and select the correct option as the answer.

Statement:
G>E<F=>B

Conclusions:

.G=B

I.B>G

Options :

1. # Only I follows

2. % Either I or II follows
3. # Both I and II follow

4. % Neither I nor II follows

Question Number : 12 Question Id : 9277598520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR T Uy A, HUT P YR W &l sy fFpTal 91d € | Fh &7 31eq8 Y 3R IR & TU H g faded &1 77 I |

hY:
G>E<F=>B

fen:

L.G=B

I.B>G

Options :

1. % pael | 3RV AT &

2. % I | AT 11 SITR0T BT §
3. % | 3R 11 ST 3FTER B &




4. AN SR TGN 11 SR Il §

Question Number : 13 Question Id : 9277598521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the missing number from the given series.

400, 394, 378, 352, 316, ?
Options :
1. % 290
2. % 280
3. ¥ 270
4. % 260

Question Number : 13 Question Id : 9277598521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 uy , f3T TTU e I i UG &1 99 |

400, 394, 378, 352, 316, ?
Options :
1. % 290
2. % 280
3.4 270
4. % 260

Question Number : 14 Question Id : 9277598522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, triangle represents people, circle represents northern state, pentagon represents southern state, rectangle represents
eastern state and hexagon represents western state.

What does letter ‘B’ represents?



Options :

1. ® Group of people who live in southern state and western state only

2. ¥ Group of people who live in northern state and western state only

3. #® Group of people who live in southern state, northern state and western state only

4. ® Group of people who live in southern state and eastern state only

Question Number : 14 Question Id : 9277598522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad smea &, Ay ail &1 ufafAfia ol &, 39 Sst 50 &1 WA HRd1 |, Gaeiur gaon Isd &1 Ui i 8, smad
T 9 1 Ui FHral § SR Syt ufdt g &1 ufafAfia arar g

&R B’ fpgeT ufaffia g2




Options :

1. % had aferoft o iR Uit g H I8 a1 AT BT THg

2. ¢ Had I AT 3R U IT H g a1 AR BT THE |

3. % Had et Iy, IR AT 3R T Iog H I8 ara Al B IHE|
4. % Had gl Isg SR gdf Iroa & T8 aral Al B Ig |

Question Number : 15 Question Id : 9277598523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, triangle represents personal loan, circle represents private bank, hexagon represents government bank, rectangle
represents education loan and square represents housing loan.

What does letter ‘L’ represents?



e
C
E

(] H N 0

\[/

Options :

1. ¥ Private banks which provide education loan and personal loan but not housing loan

2. # Government banks which provide education loan and personal loan but not housing loan
3. # Private banks which provide housing loan, education loan and personal loan

4. % Government banks which provide housing loan, education loan and personal loan

Question Number : 15 Question Id : 9277598523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed sma #, Ryst afdaTd B0 &1 Ufaffea w1 §, g9 ol & BT Jiafieid &l §, Tyl TRBRI 9 &1 Wi a1 g,
3mad fRrei 01 1 Ufafifia oar g 3R avf mariia 51 &1 ufaffia sRar gl

&R <L g ufafifia g2



A "’/
B [ C ]t ™
ple H —;j 0

Options :

1. ¢ TSl S ST Rrem BT 3R SfGavTa 1 UeH HRd § Afde SMary F07 781 |
2. % BN S SN & B 3R AfRTTT B0 UGH R & AfhT Mg 07 T8}
3. % TSl S Y 3mar FuT, e H0r 3R AfemTd H1 UeH HRd B

4, % IHRY dp Sil ATaTY FH0T, A& 1 3R TG Td BT TS Hd g

Question Number : 16 Question Id : 9277598524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure that will replace the question mark (?) in the following figure series.

-

Options :

| [@
DE




] |1E
2. %

D] 18
3. ¢

5
4. %

Question Number : 16 Question Id : 9277598524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I TP BT I Dx Sl FafrRaa siipfa g 4 uy g (2) o ufcriifid s |

@

Options :




0] &
], %

0] |E
2. #

MRE
3.

S
4. %

Question Number : 17 Question Id : 9277598525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives select the one in which the question figure is hidden/embedded.



Options :

N

X%

2. ®
7S
<\O />
3. % =




Question Number : 17 Question Id : 9277598525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu T fahedl & 9, 39 3Mpfa o1 w0 B3 ForgH Uy i srafifed / fdi 82

Options :

1. ¢




Question Number : 18 Question Id : 9277598526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives select the one which is the mirror image of given Question Figure .

{m
{ N\ R

Options :

2. ¥



~, 7

3. %
.-""/\.\
7 -

4, %

Question Number : 18 Question Id : 9277598526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu e fasenl & T, I 1A &1 g9 B 51 fou 7T Y 3nepfa &1 g ufafsa g1

M

S

L]

.;\ ~
'{...-"\

i/

Options :

A\
*/
n/ '\}‘




2.¥

Question Number : 19 Question Id : 9277598527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the number of pentagon in the given figure.



Options :
1. %9
2.% 6
3.¢7
4. % 8

Question Number : 19 Question Id : 9277598527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TS 3mepTal B Uyl BT T 1d BT

Options :
1. %9
2.% 6
3.¢¥7
4, % 8



Question Number : 20 Question Id : 9277598528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives select the one that will complete the question figure.
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Options :

(%
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]
1




Question Number : 20 Question Id : 9277598528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U fa el T 9§ 39 fabed &1 T S UY 3HThid &l R HR|

' ~
'q ~ ']
[ [Felo% | )
r '

I
kL—J J
Options :

—

e

b
1. #
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Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759414
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9277598529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a distinctive dance form of Kerala.
Options :
1. * Kuchipudi
2. * Veeragase
3. % Bihu
4. ¥ Mohiniattam

Question Number : 21 Question Id : 9277598529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A PHII® AR T TR
Options :

L. * Plagel

2. % GRIY

3. % fog

4. ¢ Hifg-erey

Question Number : 22 Question Id : 9277598530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The dedicated to Vishnu is the grandest temple of Khajuraho, built by the Chandela king, Dhanga.
Options :



1. # Dashavatara temple
2. ¥ Lakshmana temple
3. % Sibsagar temple

4. # Terracotta temple

Question Number : 22 Question Id : 9277598530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s aatda GoR% & 969 Yo 1R 7, o I4a IS, 47T gRT S=1am 747 T
Options :

1. % GRMGAR AR

2. ¢ A& HiR

3. % fREUAR HieR

4. % DI AR

Question Number : 23 Question Id : 9277598531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which tennis players won the Italian open in 20217
Options :

1. # Novak Djokovic

2. % Andy Murray

3. % Roger Federer

4. ¥ Rafael Nadal

Question Number : 23 Question Id : 9277598531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g efag fIarst 3 2021 A geform 3Ny S
Options :

1. % a1 SiiepIia



2. % TSI W
3. % YR BER
4. ¥ Jqhd A8Td

Question Number : 24 Question Id : 9277598532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did Badminton Association of India come into existence?
Options :

1. #® 1956

2. ¥ 1934

3. % 1948

4, % 1955

Question Number : 24 Question Id : 9277598532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR deftie 99 fhy Iy sifiqa 7 omam
Options :

1. # 1956

2.9 1934

3. % 1948

4, % 1955

Question Number : 25 Question Id : 9277598533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“The Wings of Fire is an autobiography of which famous politician?
Options :

1. % Abraham Lincoln

2. % Manmohan Singh

3. ¥ A.PJ Abdul Kalam



4. % Jawaharlal Nehru

Question Number : 25 Question Id : 9277598533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G a7 3iTth TR bl URYeg STl b SHTHBYT B2

Options :

1. % 3fsTgy feid

2. % FAE Rig

3. QUL 3fegdl hald
4, % JATEAd J8%

Question Number : 26 Question Id : 9277598534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which organisation has won three Nobel Peace prizes?
Options :

1. ¥ World Food Programme

2. ¥ International Committee of the Red Cross (ICRC)
3. ¥ World Health Organization

4. % UNICEF

Question Number : 26 Question Id : 9277598534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g TTE A T Aoidt il YRIPR St 62
Options :

1. % fay @ SrdeH

2. ¢ TS 1Y B SARIFIT AT (ICRC)

3. % fqwq W@y g

4. % g%



Question Number : 27 Question Id : 9277598535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
represents the budget of the central government in the Lok Sabha.
Options :
1. # Defence minister
2. % Home Minister
3. % Finance minister

4, % External Minister

Question Number : 27 Question Id : 9277598535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AHIHT T 6% TRBR P qolc BT U1 Hal g
Options :
1. % T HA!
2. % QA
3. ¢ faa w4l
4. % fac=r w4l

Question Number : 28 Question Id : 9277598536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The government manages the public finance through which policy?
Options :

1. ¥ Fiscal policy

2. # Monetary policy

3. % Supply side policy

4. # Health policy

Question Number : 28 Question Id : 9277598536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

PR foog Hifd & Arenm T Fravi-es fad BT Uae Hal 82
Options :

1. ¢ ISTH N i

2. % Aifgw Aifd

3. % 3l gef Aifd

4. % Greg Hifq

Question Number : 29 Question Id : 9277598537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which fundamental right of the Indian Constitution prohibits human trafficking?
Options :

1. % Right to constitutional remedies

2. ® Right to Equality

3. ¥ Right against Exploitation

4. #¥ Right to Freedom

Question Number : 29 Question Id : 9277598537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR HAYT BT DI IT HIferd SABR HHa dt DI Uldaieid Bl o2
Options :

1. % YIS TR BT SHABR

2. % FHM BT HYBR

3. ¢ QU] & RIS SMUPR

4. % AT DT MYDBR

Question Number : 30 Question Id : 9277598538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which article of the Indian Constitution abolishes untouchability?
Options :

1. # Article 37

2. % Article 20

3. % Article 17

4. % Article 80

Question Number : 30 Question Id : 9277598538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URG AT BT b1 T SFTda SRYRA bl A bRl 672
Options :

1. % 3G 37

2. % 3G 20

3. ¥ TG 17

4. % 3G 80

Question Number : 31 Question Id : 9277598539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a natural chemical indicator of an acid or base?
Options :

1. ¥ Litmus

2. # Methyl orange

3. # Phenolphthalein

4. # Diphenylcarbazone

Question Number : 31 Question Id : 9277598539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafeiad o ¥ ®1F-91 3 I1 &R &1 WdHidd IM™AHS Jhdd g2




Options :

1. ¢ [lcHY

Question Number : 32 Question Id : 9277598540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Name the acid found in spinach?
Options :

1. ¥ Oxalic Acid

2. ® Citric Acid

3. # Ascorbic Acid

4. ® Tartaric Acid

Question Number : 32 Question Id : 9277598540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UTeieh H UTY ST dTet 31T b1 ATH §d1sy?
Options :

1. ¢ SHicTieieh 3

2. % H3fedh 3

3. % TEhieh 3T

4. % TIERSD S

Question Number : 33 Question Id : 9277598541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Area wise which is the largest state in India?
Options :



1. ¥ Rajasthan

2. % Madhya Pradesh
3. % Maharashtra

4. ¥ Karnataka

Question Number : 33 Question Id : 9277598541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&FIR YR BT I TST T DI 91 52
Options :

1. ¥ STV

2. % AL YSH

3. % HeRIY

4. % HAICH

Question Number : 34 Question Id : 9277598542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the highest peak in the Western Ghats?
Options :

1. # Kalsubai

2. # Dodabetta

3. % K-2

4. ¥ Anai Mudi

Question Number : 34 Question Id : 9277598542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRad & I DH-3 Ui ure & 9o St 9iet 82

Options :

1. % Haygdls




2. % SIglgl
3. % &)

4. SHAEHS!

Question Number : 35 Question Id : 9277598543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where did the ‘Jallianwala Massacre’ take place?
Options :

1. # Calcutta

2. ¥ Amritsar

3. % Lahore

4. ¥ Meerut

Question Number : 35 Question Id : 9277598543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SIraiaTe RUGR' Hal gafT UT?
Options :

1. # dclpdl

2. ¥ JHHAW

3. % AR

4. % W3

Question Number : 36 Question Id : 9277598544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who visualised and depicted the image of ‘Bharat Mata’ through a painting?
Options :

1. # Rabindranath Tagore

2. # Sarojini Naidu



3. % Abanindranath Tagore
4. ¥ Bankim Chandra Chattopadhyay

Question Number : 36 Question Id : 9277598544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & AT ¥ YR AT D1 Bfd BT deaT AR fermror fe fasam
Options :

1. % AT SR

2. % RIS 1ag

3. ¢ 3afEY SR

4. % §iH dg IgIaTE

Question Number : 37 Question Id : 9277598545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Khilafat Committee was formed in 1919 in the city
Options :

1. # Calcutta

2. % Bombay

3. ® Hyderabad

4. % Lucknow

Question Number : 37 Question Id : 9277598545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feempa afafdermaT 919" v H fhar mar
Options :

1. % dhclpdl

2. ¢ 9

3. % gERMEIG



4. ® U1

Question Number : 38 Question Id : 9277598546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following state government made the ‘Devaranya’ scheme to promote Ayurveda?
Options :

1. % Andhra Pradesh

2. % Himachal Pradesh

3. % Uttar Pradesh

4. ¥ Madhya Pradesh

Question Number : 38 Question Id : 9277598546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed & 3§ frd Isg WReR 7 3Mgde &I 9grd1 ¢ & T gar=ar o1 a8 62
Options :

1. % offy U=

2. % feHTad U™

3. % TR UK

4. ¢ G YT

Question Number : 39 Question Id : 9277598547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Sitio Burle Marx has been inscribed as the UNESCO World Heritage site recently. The site is based in which country?
Options :

1. # Indonesia

2. % Bhutan

3. % Brazil

4, % UK



Question Number : 39 Question Id : 9277598547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffea) gof AT 31 31a &1 H Tk ] Bt fay eRIER ®d & & U H sifehd fpar To1 g | 98 wid frg S & fRya /2
Options :

1. % gSMRE

2. % YA

3. ¢ Sl

4. % g

Question Number : 40 Question Id : 9277598548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where is the Chola Temples situated in India?
Options :

1. % Karnataka

2. % Tamil Nadu

3. % Assam

4. % Kerala

Question Number : 40 Question Id : 9277598548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRd H 9id AR Hel fUd 82

Options :

1. % PP

2. ¢ AfeArg

3. % 34H

4. % P
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Question Number : 41 Question Id : 9277598549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the value of 211563?— «./ 161 — /2897

Arithmetic Ability

3
927759324

Arithmetic Ability

927759350
1

Online
Mandatory
20

20

20

Yes

1
927759415
Yes



Options :
1. % 30
2.9 50
3. % 150
4. % 250

Question Number : 41 Question Id : 9277598549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2;/1563?— J 161 — 289 FT AT AT hST

Options :
1. % 30
2.9 50
3. % 150
4. % 250

Question Number : 42 Question Id : 9277598550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What value will come in place of question mark (?) in the following question?

ERIURICES

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :



1.9.5
2.6
3.9
4.8

Question Number : 42 Question Id : 9277598550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiRad us & usara® g () & RIM IR &1 {1 STE

ERIORICES

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1.9.5
2.6

3.9

4.8

Question Number : 43 Question Id : 9277598551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What value will come in place of question mark (?) in the following question?

SX5X5+4xX4X4
5X5-5X4+4X4

l_}

Options :



1.¥9
2. % 11
3. % 15
4. % 20

Question Number : 43 Question Id : 9277598551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiRad us & usara® g () & RIM IR &1 {1 STE

5X5X5+4XxX4x4
5X5-5X4+4x4

l._‘j

Options :
1.¥9
2. % 11
3. % 15
4. % 20

Question Number : 44 Question Id : 9277598552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The H.C.F. and L.C.M. of two numbers are 63 and 21 respectively. If the ratio between the both numbers are 1 : 3, then the larger number is:

Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1.12

2.36

3.42

4.63



Question Number : 44 Question Id : 9277598552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
& =TS BT HETH JHUAAD 3R TYTH AT HHRE: 63 R 21 8 | Al 1 Sersii &1 3urd 1 : 3 3, dl 981 9B 6:

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.12

2.36

3.42

4.63

Question Number : 45 Question Id : 9277598553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A student solves n question of mathematics. The average of unit digits of eight answers is 7. The average of unit digits of the remaining answers
is 2. If the average of unit digits of all the answers is 4, then what is the value of n?

Options :
1. ¥ 20
2. % 30
3. %25
4, % 15

Question Number : 45 Question Id : 9277598553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS BT IO & n UY 8 Bl 5| TS IR & DTS 3| BT 3 7 5| AT IR & DTS 3! BT 3 2 51 afe Tt S & SHhTS
3ih! BT 3T 4 §, A n HTHM 182

Options :

1. ¥ 20



2. % 30
3. % 25
4. % 15

Question Number : 46 Question Id : 9277598554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At a restaurant, Ravi paid 15 percent more than Vinod whereas Gopal paid 20 percent less than Vinod. If their totaql bill was Rs.3540, then how
much did Vinod pay?

Options :

1. * Rs. 1440
2. % Rs. 1200
3. % Rs. 950
4. % Rs. 1175

Question Number : 46 Question Id : 9277598554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T JeRe H, I fag ¥ 15 ufawra if¥es Yia™ &ar g Safes e =i I 20 U= S8 YTdH &1 ¢ | afe 3961 $d fad 3540
S T, f faig A fard =11 e fasam

Options :

1. % 1440 300
2. ¥ 1200 39T
3. % 950 ¥0Y
4. % 1175300

Question Number : 47 Question Id : 9277598555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a super market the cost of a certain item increased by 40 percent and its sales decreased by 8 percent. What is the net increase or decrease in
revenue on that item?

Options :



1. # 34.2 percent increase
2. # 16.4 percent increase
3. % 3.7 percent decrease

4. ¥ 28.8 percent increase

Question Number : 47 Question Id : 9277598555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teb YR TSR H Teb T2 o 1 BIAd H 40 U b1 G g3 AR 31 feshl 8 U= B D! g5 139 9%g D1 310 H g Il A1
wt forat gl

Options :

1. % 34.2 Yfa=d 9

2. % 16.4 Uldd gfg

3. % 3.7 Ufa=rd ®H!

4.+ 28.8 Ufa=Id 9fa

Question Number : 48 Question Id : 9277598556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If an article is marked up at 25 percent and then a discount of 12 percent is offered, a profit of Rs. 108 is made. What is the amount of discount
offered?

Options :

1. # Rs.252
2. ¥ Rs.162
3. ¥ Rs.238
4, % Rs.324

Question Number : 48 Question Id : 9277598556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I Teh g 1 25 UfA=Id 31 WR siferd fran ST § SR 12 vfa=rd ©e uar fasar Sirar 8 < 108 303 &1 a1y Sifoid fan ST § | e
B TS Fe P AR fHat 32




Options :

1. % 252300
2. ¥ 162 %09
3. % 238309
4. % 324309

Question Number : 49 Question Id : 9277598557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The marked price of an item is 10 percent more than the cost price. 10 percent of discount is given on marked price. The shopkeeper will get:
Options :

1. # No loss, No profit

2. % Loss of 5 percent

3. # Profit of 1 percent

4. ¥ Loss of 1 percent

Question Number : 49 Question Id : 9277598557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foreit aq 1 sifdrd T a1Td T I 10 Ufa=Td 4 g1 3ifdrd e IR 10 UFA=Id &1 Fe & T2 | gHMER &I U gh:
Options :

1. % @A, Ty

2. % 5 Gfded &1 81

3. % | Ofa=rd &1 oy

4. ¢ 1 fad &1 g1

Question Number : 50 Question Id : 9277598558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of sugar to water in solution A is 1 : 4 and the ratio of salt to water in solution B is 1 : 26. To make an ORS solution, A and B are mixed
in 2 : 3. Find the ratio of sugar to salt in ORS.

Options :



1. ® 45:16
2. % 52:15
3.18:5
4, % 12:7

Question Number : 50 Question Id : 9277598558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I A B I+ &1 Ot & SUTd 12 4 € SR O B H FHS 6T U J 3FUIT 1 : 26 8| 3NARTY °Ie -1 & 1T, A 3R B &1 2 : 3 & U
¥ foT ST § 1 SNREY H i+ &1 70 § 3Urd 1d Pifod |

Options :

1. % 45: 16

2.%52:15

3./ 18:5

4.%12:7

Question Number : 51 Question Id : 9277598559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sum of ages of B and J is 80: and sum of ages of B and K is 56: K =%= then what
will be the sum of ages of B. J and K after 6 six years?

Options :

1. % 120 years
2. % 122 years
3. % 118 years
4. % 124 years

Question Number : 51 Question Id : 9277598559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



B 3T Y A H W80 ¥ FA B K A HGHF MT 568, K= . 6 a9
1€ B, J 3T K F¥ 311 =7 a1 forqar g2

Options :

1. % 12099
2.4 12299
3. % 11899
4. % 12499

Question Number : 52 Question Id : 9277598560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At the rate of 12 percent the amount invested earns a simple interest of Rs. 2100 after 7 years. Had the interest been 2 percent more, how much
more interest would it have earned?

Options :

1. % Rs. 295
2. % Rs. 304
3. ¥ Rs. 350
4, ® Rs. 255

Question Number : 52 Question Id : 9277598560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 Ufawrd ot &R IR 9w &) TR T 4RI UR 7 aut & €16 2100 U T JIYRUT AT YTt giaT & | Ife saret 2 Ufa=ra 3ifie gidr, ar g9
R foramT 3if¥e sare Sifofd g giam

Options :

1. % 205 0Y
2. % 304 F0Y
3. ¢ 350 ®0Y
4. % 255 %0y



Question Number : 53 Question Id : 9277598561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Kapil travels for 4.5 hrs at the speed of 50 km/hr and for 7.5 hrs at the speed of 70
km/hr. at the end of it he finds that he was ccveredg of the total distance. At what

average speed should he travel to cover the remaining distance in 5 hrs?

Options :

1. % 40 km/hr
2. % 30 km/hr
3. % 32 km/hr
4.+ 25 km/hr

Question Number : 53 Question Id : 9277598561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hider 50 g frafa T 45 g g aaraare iR 0 Fadrge frafgd§ 75 9¢
ok T HAAT Bl Wﬁﬁagw%%mﬁgmqﬁw?mﬁm 3% st
siraa aife & arn e =nfge arfd gl amr s g8 & ag grane?

Options :

1. % 40 fopHiEde
2. % 30 fhHlEe
3. % 32 foHlEe
4. ¢ 25 fpdide

Question Number : 54 Question Id : 9277598562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A train covers a distance in 70 minutes, if it runs at a speed of 72 km/hr on an average. The speed at which the train must run to reduce the time
of journey to 45 minutes, will be:

Options :

1. # 125 km/hr
2. # 135 km/hr
3. # 105 km/hr
4. 112 km/hr

Question Number : 54 Question Id : 9277598562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gmwﬁr@ﬂgﬁmmﬁmm%ﬂ%smﬁ 3Td 1 72 fpe/eieT & | XaS! forg 1 & =it fob A &1 99g 45 e

Options :

1. % 125 fopHi/eieT
2. % 135 fopdider
3. % 105 fpdider
4. ¢ 112 fodider

Question Number : 55 Question Id : 9277598563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two pipes A and B can fill a tank with water in 20 min. & 24 min. respectively. Pipe C can empty the tank in 30 min. First A and B are opened.
After 9 min C is opened. The total time in which the tank would be filled up is?

Options :

1. # 3 min
2. % 12 min
3. % 7 min
4. % 15 min

Question Number : 55 Question Id : 9277598563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

S UTST A 3R B U ¢b bl UHT A HHTT: 20 e 3R 24 fiFe # 1R Gobd 81 UTST C 30 fiFe A 8 Wiefll SR Ihar @ | U8 A 3R B @At
S 81 9 e & 918 ¢ Wie ol 8 | o 99 s o &1 WR faam s 2

Options :

1. % 3 e

Question Number : 56 Question Id : 9277598564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P and Q can complete a work in 30 days. If Q works at double of his efficiency, they can complete the same work in 25 days. In how many days
can P completes the work alone?

Options :

| % 40 days

) % 45 days

30 Edays
3.8 2

3?Edays
4.4 2

Question Number : 56 Question Id : 9277598564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P 3R Q Udh H1 I 30 &I H [T HR Tahd g | ARG Q SUAT & & QA TR BT T 7, Al 4 34 B Bl 25 feAl A R AR AHd g1 P
3fohcl HTH B fha- a1 U IR B bell 52




Options :

AT

1

2. % 45 femt

30
® 2

3.

3?&%?

4.

Question Number : 57 Question Id : 9277598565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the longest altitude of a triangle whose sides are 56cm, 39 cm & 25 cm?
Options :

1. % 35.6 cm

2. % 38.6cm

3. % 37.6 cm

4. 33.6cm

Question Number : 57 Question Id : 9277598565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B &7 T Sdl I B SHaTs o1 il forad! Yold 56 THT, 39 T4t 3R 25 I 8
Options :

1. % 35.6 Al

2. % 38.6 JHI

3. % 37.6 QHI



4. 33.6 94t

Question Number : 58 Question Id : 9277598566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A man has a square field. He purchased a rectangular field adjacent to his field whose length is 40 percent of the side of the square field and

width is equal to the side of the square field. Now he has 60 m? more field area than previous field area. What is the diagonal of the new
rectangular field?

Options :

3\-’? m

2 2111 m

; % W10l m

437 m

Question Number : 58 Question Id : 9277598566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T TH! & UMY T IHR Wd g | I 30 Jd & I H Th AR Wd WRie orae! ddls aviepR Wd o1 Yol b1 40 Ta=d §
3R AIeTs THR WA BT Yol & SRIER ¢ | 316 39D UM IS Td &1 ga-T1 | 60 T2 31fh Wd g | T SAIHR Wd BT fadhof a1 82

Options :
% 33T

5 @ V111 A

3101 &Y

3. %



Question Number : 59 Question Id : 9277598567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given table shows the number of vegetarian and non-vegetarian adults in two cities.

Year City X City Y
Vegetarian Non-vegetarian Vegetarian Non-vegetarian

2011 450000 750000 300000 400000
2012 480000 800000 310000 430000
2013 550000 840000 350000 500000
2014 500000 800000 370000 480000
2015 620000 840000 400000 520000
2016 680000 820000 500000 700000
2017 700000 850000 480000 630000
2018 720000 1000000 510000 650000
2019 800000 1100000 550000 780000

In how many years, the ratio of non-vegetarian to vegetarian in city Y is more than 1.3?
Options :

1.¥6

2.% 5

3.% 8

4. %7

Question Number : 59 Question Id : 9277598567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g a1ferenT &) WeRl # TMpTeRY iR AR auve! o1 T &l g2 3|




- MET X METY

IMFTET ATETETS IMFTET ATETETS
2011 450000 750000 300000 400000
2012 480000 200000 310000 430000
2013 550000 840000 350000 500000
2014 500000 Q00000 370000 430000
2015 620000 240000 400000 520000
2016 680000 Q20000 500000 F00000
2017 T00000 350000 430000 630000
2018 T20000 1000000 510000 650000
2019 200000 1100000 550000 TEO000
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Options :

1.¥6

2. %5

3. %8

4. % 7

Question Number : 60 Question Id : 9277598568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following bar graph shows the total selling price (in Rs.) and total cost price (in Rs.) of each of six different flowers in a day.



Rose Lotus Lily Marigold Hibiscus  Sunflower

B Total selling price  ® Total cost price

If the ratio of number of rose, lily and sunflower sold is 7 : 5 : 10 respectively, then find the ratio of profit earned on a rose, on a lily and on a
sunflower.

Options :

1.¥25:18:7
2. % 24:18:11
3.%23:18:10
4. % 25:16:9

Question Number : 60 Question Id : 9277598568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥25:18:7
2.%24:18: 11
3.%23:18:10
4. %25:16:9
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Question Number : 61 Question Id : 9277598569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One part of the sentence below may contain an error. Identify the part. If there is no error, choose ‘No error’.

The problem is how most central banks still tends to function under the operative and functional framework, shadowing the work of Milton
Friedman.

Options :

1. ¥ The problem is how most central banks still tends to function
2. # under the operative and functional framework,

3. % shadowing the work of Milton Friedman

4. % No error

Question Number : 61 Question Id : 9277598569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
One part of the sentence below may contain an error. Identify the part. If there is no error, choose ‘No error’.

The problem is how most central banks still tends to function under the operative and functional framework, shadowing the work of Milton
Friedman.

Options :

1. % The problem is how most central banks still tends to function
2. % under the operative and functional framework,

3. % shadowing the work of Milton Friedman

4. % No error

Question Number : 62 Question Id : 9277598570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One part of the sentence below may contain an error. Identify the part. If there is no error, choose ‘No error’.

The polymers, called polypeptides, break apart into building blocks called amino acids when heated with just the right amount of acid.
Options :

1. # The polymers, called polypeptides, break apart into

2. % building blocks called amino acids when heated

3. # with just the right amount of acid

4. ¥ No error

Question Number : 62 Question Id : 9277598570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One part of the sentence below may contain an error. Identify the part. If there is no error, choose ‘No error’.

The polymers, called polypeptides, break apart into building blocks called amino acids when heated with just the right amount of acid.
Options :

1. ® The polymers, called polypeptides, break apart into

2. % building blocks called amino acids when heated

3. ® with just the right amount of acid



4. % No error

Question Number : 63 Question Id : 9277598571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute the underlined
segment, select ‘No improvement’.

Residential areas should be situated far away of industrialized areas.

Options :

1. ¥ from industrial areas
2. # to industrial area

3. # in industrial area

4. % No improvement

Question Number : 63 Question Id : 9277598571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute the underlined
segment, select ‘No improvement’.

Residential areas should be situated far away of industrialized areas.
Options :

1. ¥ from industrial areas

2. # to industrial area

3. #* in industrial area

4. ¥ No improvement

Question Number : 64 Question Id : 9277598572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the bracketed part in the given sentence. If there is no need to substitute the bracketed part, select
‘No improvement’.



(Beside leaves), photosynthesis also takes place in other green parts of the plant.

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Beside leafs

2. Beside leaves

3. Apart from leaf

4. No improvement

Question Number : 64 Question Id : 9277598572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the bracketed part in the given sentence. If there is no need to substitute the bracketed part, select
‘No improvement’.

(Beside leaves), photosynthesis also takes place in other green parts of the plant.

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Beside leafs

2. Beside leaves

3. Apart from leaf

4. No improvement

Question Number : 65 Question Id : 9277598573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

many people live in the cities, others live in the countryside growing crops.



Options :

1. ¥ While
2. % About
3. ¥ Among
4. ¥ Whether

Question Number : 65 Question Id : 9277598573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

many people live in the cities, others live in the countryside growing crops.
Options :
1. ¥ While
2. % About
3. % Among
4. ¥ Whether

Question Number : 66 Question Id : 9277598574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

Monalisa has up on her freewheeling lifestyle to settle down her baby daughter.
Options :

1. # give, from

2. % given, with

3. ¥ given, upon

4. % gave, into

Question Number : 66 Question Id : 9277598574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to fill in the blanks.

Monalisa has up on her freewheeling lifestyle to settle down her baby daughter.
Options :

1. # give, from

2. ¥ given, with

3. % given, upon

4. # gave, into

Question Number : 67 Question Id : 9277598575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

The internal form the very substance of its nature which is “swarupa”.
Options :

1. #* constitutes, calling

2. # constitute, called

3. # constituting, calls

4. % constitutes, called

Question Number : 67 Question Id : 9277598575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

The internal form the very substance of its nature which is “swarupa”.
Options :

1. #¥ constitutes, calling

2. % constitute, called

3. % constituting, calls

4. % constitutes, called



Question Number : 68 Question Id : 9277598576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, there are six sentences marked S1, S6, P, Q, R, and S. The positions of S1 and S6 are fixed. You are required to choose
one of the four alternatives which would be the most logical sequence of the sentence in the passage.

S1. Did you know that even Indians need to obtain a permit to visit certain places in India?

P. This is done so that the movement of people are regulated.

Q. This permit is called as the Inner Line Permit.

R. Such permits are needed to visit sensitive places near the international border.

S. And the Trible cultures are protected and unsavoury incidents are minimised.

S6. So, the next time you visit any of the sensitive places, remember to obtain the Inner Line Permit.

Options :

1. # PQRS
2. % SRPQ
3. ¥ QRPS
4. % RPQS

Question Number : 68 Question Id : 9277598576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, there are six sentences marked S1, S6, P, Q, R, and S. The positions of S1 and S6 are fixed. You are required to choose
one of the four alternatives which would be the most logical sequence of the sentence in the passage.

S1. Did you know that even Indians need to obtain a permit to visit certain places in India?

P. This is done so that the movement of people are regulated.

Q. This permit is called as the Inner Line Permit.

R. Such permits are needed to visit sensitive places near the international border.

S. And the Trible cultures are protected and unsavoury incidents are minimised.

S6. So, the next time you visit any of the sensitive places, remember to obtain the Inner Line Permit.

Options :

1. % PQRS
2. % SRPQ
3. ¥ QRPS
4. % RPQS



Question Number : 69 Question Id : 9277598577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym for the given word.

LUCRATIVE
Options :

1. * Hidden
2. * Sharp
3. % Harmful

4. % Profitable

Question Number : 69 Question Id : 9277598577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym for the given word.

LUCRATIVE
Options :

1. * Hidden
2. % Sharp
3. % Harmful

4. % Profitable

Question Number : 70 Question Id : 9277598578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym for the given word.

Acme
Options :
1. ¥ Base



2. % Zero
3. # Peak
4, % Pits

Question Number : 70 Question Id : 9277598578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym for the given word.

Acme

Options :
1. ¥ Base
2. % Zero
3. # Peak
4. % Pits

Question Number : 71 Question Id : 9277598579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the INCORRECTLY spelt word.
Options :

1. # Originate

2. # Ethics

3. % Vorocious

4. # Bigwig

Question Number : 71 Question Id : 9277598579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the INCORRECTLY spelt word.
Options :

1. # Originate



2. * Ethics
3. % Vorocious

4. # Bigwig

Question Number : 72 Question Id : 9277598580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the CORRECTLY spelt word.
Options :

1. # entreprenaur

2. # entepreneur

3. ¥ entrepreneur

4. # entreprennuer

Question Number : 72 Question Id : 9277598580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the CORRECTLY spelt word.
Options :

1. ¥ entreprenaur

2. % entepreneur

3. ¥ entrepreneur

4. ® entreprennuer

Question Number : 73 Question Id : 9277598581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one that best expresses the meaning of the idiom/phrase.

Bide one's time
Options :
1. % To happens quite often, but not all the time



2. # To feel angry or annoyed
3. # To not accept any kind of antisocial behaviour

4. ¥ To wait quietly for a good opportunity to do something

Question Number : 73 Question Id : 9277598581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one that best expresses the meaning of the idiom/phrase.

Bide one's time

Options :

1. # To happens quite often, but not all the time

2. # To feel angry or annoyed

3. % To not accept any kind of antisocial behaviour

4. % To wait quietly for a good opportunity to do something

Question Number : 74 Question Id : 9277598582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one which best expresses the meaning of the idiom/phrase.

Sail close to the wind

Options :

1. ® To turn pale

2. % Strong determination

3. ® Ups and downs

4. ¥ To do something that is dangerous

Question Number : 74 Question Id : 9277598582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one which best expresses the meaning of the idiom/phrase.



Sail close to the wind

Options :

1. % To turn pale

2. % Strong determination

3. # Ups and downs

4. ¥ To do something that is dangerous

Question Number : 75 Question Id : 9277598583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the following group of the words.

One who studies insect life.
Options :

1. # Naturalist

2. ¥ Entomologist

3. # Cardiologist

4. % Activist

Question Number : 75 Question Id : 9277598583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the following group of the words.

One who studies insect life.

Options :

1. # Naturalist

2. ¥ Entomologist

3. % Cardiologist

4. % Activist

Sub-Section Number : 2
Sub-Section Id : 927759417
Question Shuffling Allowed : Yes



Question Id : 9277598584 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.

The Sound of Music is a 1965 American musical drama film produced and directed by Robert Wise, and starring Julie Andrews and Christopher
Plummer, with Richard Haydn, Peggy Wood, Charmian Carr, and Eleanor Parker. The film is an adaptation of the 1959 stage musical of the same
name, composed by Richard Rodgers with lyrics by Oscar Hammerstein I1. The film's screenplay was written by Ernest Lehman, adapted from
the stage musical's book by Lindsay and Crouse. Based on the 1949 memoir The Story of the Trapp Family Singers by Maria von Trapp, the film
is about a young Austrian postulant in Salzburg, Austria, in 1938 who is sent to the villa of a retired naval officer and widower to be governess to
his seven children.

After bringing love and music into the lives of the family, she marries the officer and, together with the children, finds a way to survive the loss
of their homeland to the Nazis. Filming took place from March to September 1964 in Los Angeles and Salzburg. It was released on March 2,
1965, in the United States, initially as a limited roadshow theatrical release. Although initial critical response to the film was mixed, it was a
major commercial success, becoming the number one box office movie after four weeks, and the highest-grossing film of 1965. By November
1966, it had become the highest-grossing film of all-time—surpassing Gone with the Wind—and held that distinction for five years. The film was
just as popular throughout the world, breaking previous box-office records in twenty-nine countries.

Following an initial theatrical release that lasted four and a half years, and two successful re-releases, the film sold 283 million admissions
worldwide and earned a total worldwide gross of $286 million. It received five Academy Awards, including Best Picture and Best Director,
Wise's second pair of both awards, the first being from the 1961 film West Side Story. The film also received two Golden Globe Awards, for Best
Motion Picture and Best Actress, the Directors Guild of America Award for Outstanding Directorial Achievement, and the Writers Guild of
America Award for Best Written American Musical.

Sub questions

Question Number : 76 Question Id : 9277598585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, the lead character of the movie is...
Options :

1. % an American

2. % an Austrian

3. % a German

4. % a British



Question Number : 77 Question Id : 9277598586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Sound of Music is an adaptation of the stage musical of the same name. Who composed this musical stage?
Options :

1. # Oscar Hammerstein II

2. ¥ Richard Rodgers

3. % Julie Andrews

4. % Christopher Plummer

Question Number : 78 Question Id : 9277598587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given passage, Ernest Lehman is responsible for?
Options :

1. # Acting in the movie.

2. % Casting in the movie.

3. ¥ Screenplay writing for the movie.

4. % Lyrics of the movie.

Question Number : 79 Question Id : 9277598588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, how many Academy Awards were received by the movie ‘The Sound of Music’?
Options :

1. # Three

2. ¥ Five

3. % Seven

4. % Six

Question Number : 80 Question Id : 9277598589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What does the word ‘Postulant’ mean in the given passage?

Options :

1. # A name that has been assumed temporarily

2. # A formal ecclesiastical curse accompanied by excommunication

3. % A person who makes a request or application for admission into a religious order

4. % Someone who practices self-denial as a spiritual discipline

Question Id : 9277598584 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.

The Sound of Music is a 1965 American musical drama film produced and directed by Robert Wise, and starring Julie Andrews and Christopher
Plummer, with Richard Haydn, Peggy Wood, Charmian Carr, and Eleanor Parker. The film is an adaptation of the 1959 stage musical of the same
name, composed by Richard Rodgers with lyrics by Oscar Hammerstein I1. The film's screenplay was written by Ernest Lehman, adapted from
the stage musical's book by Lindsay and Crouse. Based on the 1949 memoir The Story of the Trapp Family Singers by Maria von Trapp, the film
is about a young Austrian postulant in Salzburg, Austria, in 1938 who is sent to the villa of a retired naval officer and widower to be governess to
his seven children.

After bringing love and music into the lives of the family, she marries the officer and, together with the children, finds a way to survive the loss
of their homeland to the Nazis. Filming took place from March to September 1964 in Los Angeles and Salzburg. It was released on March 2,
1965, in the United States, initially as a limited roadshow theatrical release. Although initial critical response to the film was mixed, it was a
major commercial success, becoming the number one box office movie after four weeks, and the highest-grossing film of 1965. By November
1966, it had become the highest-grossing film of all-time—surpassing Gone with the Wind—and held that distinction for five years. The film was
just as popular throughout the world, breaking previous box-office records in twenty-nine countries.

Following an initial theatrical release that lasted four and a half years, and two successful re-releases, the film sold 283 million admissions
worldwide and earned a total worldwide gross of $286 million. It received five Academy Awards, including Best Picture and Best Director,
Wise's second pair of both awards, the first being from the 1961 film West Side Story. The film also received two Golden Globe Awards, for Best
Motion Picture and Best Actress, the Directors Guild of America Award for Outstanding Directorial Achievement, and the Writers Guild of
America Award for Best Written American Musical.

Sub questions

Question Number : 76 Question Id : 9277598585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the given passage, the lead character of the movie is...



Options :

1. # an American
2. % an Austrian
3. % a German

4. * a British

Question Number : 77 Question Id : 9277598586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Sound of Music is an adaptation of the stage musical of the same name. Who composed this musical stage?
Options :

1. # Oscar Hammerstein II

2. ¥ Richard Rodgers

3. # Julie Andrews

4. # Christopher Plummer

Question Number : 78 Question Id : 9277598587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given passage, Ernest Lehman is responsible for?
Options :

1. % Acting in the movie.

2. # Casting in the movie.

3. ¥ Screenplay writing for the movie.

4. # Lyrics of the movie.

Question Number : 79 Question Id : 9277598588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, how many Academy Awards were received by the movie ‘The Sound of Music’?
Options :

1. # Three

2. ¥ Five



3. # Seven

4. % Six

Question Number : 80 Question Id : 9277598589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the word ‘Postulant’ mean in the given passage?

Options :

1. * A name that has been assumed temporarily

2. % A formal ecclesiastical curse accompanied by excommunication

3. ¥ A person who makes a request or application for admission into a religious order

4. % Someone who practices self-denial as a spiritual discipline
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Question Number : 81 Question Id : 9277598590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfaRea & & yraur § SF-3 9f g2
Options :

1. ¢ 3rarie Y

2. % Ty Ay

3. % TUT Y

4, % oG

Question Number : 81 Question Id : 9277598590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & 9 reraur 7 H1H-30 9 g
Options :

1. ¢ 3fe gfY

2. % Y Y

3. % TUTEY

4. % gorAfg

Question Number : 82 Question Id : 9277598591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfRad & ¥ ToH s T 9g- Hifo-

Options :




1. %39
2. ¥ YW
3. % o
4. % gOR

Question Number : 82 Question Id : 9277598591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAEfafed ¥ ¥ dH g &1 9949 PIfoTe-
Options :

1. %39

2. ¢ YA

3. % fud

4, % gHR

Question Number : 83 Question Id : 9277598592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrEfIRed & @ SH-91 2eg ITTH 6T TN R ST 71 52
Options :

1. %

2. % S

3. % Yl

4, 3dY

Question Number : 83 Question Id : 9277598592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T & @ 1H-91 2o SUTRT BT TANT HR ST T 52

Options :

1. % <at




2. % 3IZTs
3. % Y adt
4.« I

Question Number : 84 Question Id : 9277598593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR o ¥ HH-91 fadh e HIgarae U3 X6g BT 3a1ex 1ol 62
Options :

1. ¢ gHI

2. % /Y

3. % §iARY

4. % fooM

Question Number : 84 Question Id : 9277598593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfifad o @ -3 e eu Higare 371 Tsg BT ISeRU el 22
Options :

1. % Yl

2. % 3TBTY

3. % JiARY

4. % fooM

Question Number : 85 Question Id : 9277598594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrefafad & 9 wifdea o1 aiard 2eg HH-91 32
Options :

1. * ST

2. % O



3. ¢ g
4. % 3D

Question Number : 85 Question Id : 9277598594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & ¥ Iy BT Taiard eg HH-I1 82
Options :

1. % ST

2. % MO

3. ¥ HEIRA

4. % 3D

Question Number : 86 Question Id : 9277598595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frforad & @ gg ad=it arel 2sg &1 T B
Options :

1. % 3FRA

2. ¢ RIS

3. # §igWhR

4. % 3clichh

Question Number : 86 Question Id : 9277598595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAmferRad # ¥ g a1 aTel e &I 99 DIfoTd-
Options :

1. % 3RA!

2. ¢ RIS

3. % §igWhR




4. % 3Afbd

Question Number : 87 Question Id : 9277598596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAfaRad & ¥ "= &1 f9dm eg $1F-91 87
Options :

1. % fer

2. % G

3. % GITRU]

4, % [

Question Number : 87 Question Id : 9277598596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrfiRed & § xR &1 f9dd Teg -9 82
Options :

1. % far

2. % AT

3. ¥ OTRTT

4. % [

Question Number : 88 Question Id : 9277598597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T TTQ aTeRIieT o foTT Ueh Req BT =TT HITTT-

S 8% T IR B 1T WIold 8-
Options :

1. % forcfiof

2. % Y



3. % WA
4. ¢ Tygradt

Question Number : 88 Question Id : 9277598597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 71T aTeRIieT o foTT Ueh Req T =T HITTT-

S 8% T g¥RI B 1T Wiold 8-
Options :

1. % focist

2. % Y

3. % YR

4. ¢ fgradt

Question Number : 89 Question Id : 9277598598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad 7 9 foar mar 9 f5a &1 &1 e g?
T Il Y BAar g |

Options :

1. % 3~ YdbId

2. % ggegHc HITHTd
3. ¢ N IqAMSIA
4. % ZIoQHG YDA

Question Number : 89 Question Id : 9277598598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfafaa o T fear mn a1 frg &1 B1 3SR 82




AT I § Baar g |
Options :

1. ® 3 YdPb1a

2. % ggogHG HidhTd
3. « I IS
4. % ggedHe Yddld

Question Number : 90 Question Id : 9277598599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfeied o 3 oo aTerr H gl o1 31l I fobar T &
Options :

1. ¢ 30 & YR H - FHHI g

2. % §ETH 3Fd g8 A

3. % JAN 93 Hid |

4. % T BT R THER IR T

Question Number : 90 Question Id : 9277598599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=faied o 9 for area & aa-1 &1 Sl 9T fasan T g2
Options :

1. ¥ 3PV P HHR H iF AHHA |

2. % §ETH 3 &1 |

3. % T 93 Hid |

4. % T BT IR LR IR Y|

Question Number : 91 Question Id : 9277598600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafafad 7 § S9-a1 a9 fyare 78 82




Options :

1. % 373§ f g2 RIBR e
2. ¥ G B Y PIs HE I o) gl
3. % Sq Alg- T a9 g A
4. % =T A enmeRT faan for &t gTfoR faan S|

Question Number : 91 Question Id : 9277598600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfaRad 7 9 SH-a1 a1 fyare 781 g2
Options :

1. % 3T g fob g2 IR firam|

2. ¢ GHI B I PIg HIH 6! gofll

3. % O§ HigH MW a9 g A= |

4. % Irarefter A emew faa o Fet gIfoR fovar s |

Question Number : 92 Question Id : 9277598601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feferRad & I 91 & UbR b1 Ig DIfoT-
TolgR] I URR el dis ol 38 |

Options :

1. ¢ SHHAA
2. % HyarA
3. % Yrgary
4. % fopgrar

Question Number : 92 Question Id : 9277598601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



AR O 9§ 91 & UDHR BT 9 DIfTL-
TolgR] I URR el dls ol 38 |

Options :

1. ¢ HHAA
2. ® FHgard
3. % YgarA
4. % fgararA

Question Number : 93 Question Id : 9277598602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fafad 3 I fog gerak o1 o ues €1 fawa W sie a1 /2
Options :

1. % A Y S8R §1d g

2. % Tie-dle Bl

3. % 3R-fEHH A

4. ¢ a4 g a1 T

Question Number : 93 Question Id : 9277598602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=feRad o I fow gerak &1 o U €1 fawd W se Ad 811" /2
Options :

1. % STH ¥ §18R &1 BT

2. % SNS-drs HRATI

3. % BR-EHM T

4.« ST 4g Sa- ard |

Question Number : 94 Question Id : 9277598603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
FAfRId o ¥ D1F-91 Al $1 Taferd ¥ g2
Options :

1.« fafea foq @ R @ U1, 38 Seie! §1a ol
2. % faIfa foe A1 7R © U1, Wig wCIEt €ld i
3. % fafar fom 9l =R § U, W8 9eig gia S|
4. % fafean e 1 8 & T, 316 98! B1d S|

Question Number : 94 Question Id : 9277598603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEAfIREd & & SH-91 Aldbifad &1 Uaferd ¥U 82
Options :

1. v fafean fom @ =R & T, g Sciel gid o
2. % TR o @ R 8 X1, Wig SC18! 81 S|
3. % fafear fom @t TR g UaT, 18 SCiel 81d S|
4. % fafkan fU9 a1 g 8 U1, 3T 9ciel 81d o

Question Number : 95 Question Id : 9277598604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFeffead o 9§ ford arer  srgfavrd ferg o1 uanT fobar mar g2

Options :

1. % 33T, A I 9|

2. % 'YHA Afd JaT Il 318 | WT07 S TR aa 7 ofrg 11"

3. ¢ B H BT - I d1d BT ITT; fooTelt THH- @it ITed TR it 3R a9 &t g ¢ - e R IR iR & |
4. % HUY-HY, G1g]-9-S1a|

Question Number : 95 Question Id : 9277598604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fferiRad # 3 ford are H srafor™ g &1 vt fopan T g2

Options :

1. % 33T, Al I 9|

2. % GG Afd JaT Il 318 | WT07 S TR a7 ofrg 11"

3. ¢ B H BT - I d1d BT ITT; fooTel THH- it ITed TR it 3R a9 &t §¢ ¢ - e Rl IR iR & |
4. % HU-Y-HH, I1el-9-57aT |

Sub-Section Number : 2
Sub-Section Id : 927759419
Question Shuffling Allowed : Yes

Question Id : 9277598605 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

frefeTRId I T ATYdD 3T R U=HI b I afort-

I § €S0 dg] & O BT HIAT 3R W U9 I Sfiauid 81 | T Saril 1 31U 9o I UH BiaT 8, TR ST o I, T4 a1 Sacdl
T gad B S99 & for fomdt sesfur &t Sirazadsdt 8! giah, Sfeds I af S+t YA & Ufa A U &1 Tarvifaes 9T | 1 J1d 8t el
O] TiEY I &1 S{UAT SR TRT g1 & | HeaT-9d Gaft 30 =1 &1 3R 3¢ Ial S & | G1-UF &1 3wt wifordt & faem™ &1 o @t
A & [ ATqUH & TR T I 81 SX1-09 9 811 ¢ | fa-4R 9 T, Sfeiar iR Rl &t ST I a1 Uahd, Tiids URIe &1 get
M R YT TS B &1 TV N1 W1 ARThR, S SR H STcieh <% ) AaT o1 Ha? 3171 T AT bt I hdl A8l 2|

Sub questions

Question Number : 96 Question Id : 9277598606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUad TR & SI9R, Ta1 G 7 ¢ SIg1 b Al

Options :

1. ¢ TN 3R I § el 3 IEd 8|
2. % SRR 1 B

3. % SRR TR B

4. % AR Yl E I R T




Question Number : 97 Question Id : 9277598607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STe TR & R, TX-0H BT 3pR e o | foradt fagmr 29
Options :

1. % e Tt

2. % ohad Ulerdl #

3. % dHad APl |

4.« gyt gIior |

Question Number : 98 Question Id : 9277598608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST T & e A -1 Hu I8l el 82

Options :

1. % A9 g Te) U Uferdt de Y U ¥ WRT BidT § | Fear-gHy uel 30 =i & 3R 38 I3 9§

2. ¢ SRI-UH &7 iR it ot & foemm = g1 &1 9aft AT wmsrd € fob Ayl & AR @ 3 8 o1-UH 9d gl o
3. % YA QAT bl 3T Fc & UH Il 8, =6 IADT o @1, T4 I1 qerad! 3 god &1

4. % CR-OA & forw [t Srrapefur &bt Siragaran 16l gidh, Sfcdh a8 df ot YA & Ui T3S 7 1 arHifass 7Har g

Question Number : 99 Question Id : 9277598609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e 5 @ <o <reg &1 1 ol 52
Options :

1. ¥ Oige

2. % wrdff

3. % 3P

4. % XU

Question Number : 100 Question Id : 9277598610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

SUad T H TRad fohdT T R <SMTH YUl &1 fadid X (e H 9 IH-91 82
Options :

1. ® faciepl

2. % GHEAGH

3. % Rema

4.« fapyu

Question Id : 9277598605 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

=TT eI FT AT ga® ST B U=AT B IR Glord-

IRd § gSU 981 & off SIAe HIaT 3R Wew 0H & 3avid 81| e SXarf &l 30 ad- § UF i1 8, TR I9PT S T, 7TH a7 gaaal
T gad 81| S-0H & fore fondlt Srrepsiur &t Sra<adsdl et g, dfed g <l 3O Y & Ui 7T 713 & WIHTfde THdT § | J19d & et
U] Uferd a1 S{UAT SR TRT 81T & | HeaT-aig geft 3o =1 &t 3R 32 oal Si1d & | G- &7 3 gt wfordt & faeme 81 o @t
T & b Ayl & AR T 9 g1 <R1-00 ad g1 ¢ | fa9-HR 3 T, Sfeia SR dRdl & &1 AT 181 Udhd, Afds URier &1 ual
3 R HIT TS Bl & | T 1 e ANTen, S Sifed & ST S b1 T 1 B2 3o T AT bl 3TaRadhal el 8|

Sub questions

Question Number : 96 Question Id : 9277598606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Iuad T & IR, T81 o HEH g S8 & @]

Options :

1. ¢ TN 3R It & TaT 3 e B
2. % SRISAIR a1 g

3. % R T B

4. % PR QI wg I R TERI

Question Number : 97 Question Id : 9277598607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical




Correct Marks : 1 Wrong Marks : 0.25

ST TR & AR, I-UH &1 iR 1 A | forad| fagmmi 82
Options :

1. % bad g3l #

2. % PHad yierdl |

3. % dad AP |

4.« gyt gIforl |

Question Number : 98 Question Id : 9277598608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR & TeH & DF-91 HU- el el 62

Options :

1. % g g Te) U] Uferdt ae bl U S WRT Bidl § | Fear-aey el 30 =i & 3R 33 I3 W ¢

2. ¢ CRI-UH &7 SR it oifort # fagm= 72t gian & | Tt @ e 8 6 Arg il & IR @ 9 81 /-0 e g ¢ |
3. % T® SRIAR ®I 307 g I UH gidT &, 918 ST S T, 7TH I1 Gacal 9 Jad g

4. % SRI-UH & oy Tl STesur &t STa=gardl et g, Sfew a8 dl U= Yl & fd TS A1 &1 WrHTfdd AT ¢ |

Question Number : 99 Question Id : 9277598609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fefeRad 7 9 «He weg o1 ur 3f 82
Options :

1. ¢ °igel

2. % @it

3. % 3P

4. % qRH

Question Number : 100 Question Id : 9277598610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUad TR B UgaR foh T Reg TSN BT fqay Reg i | 9 HIF-91 82



Options :

1. ® faciepl
2. % gHlgd
3. % Rema
4. faHy0

Disciplinel
Group Number : 6
Group Id : 927759327
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Disciplinel
Section Id : 927759353
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 927759420
Question Shuffling Allowed : Yes



Question Number : 101 Question Id : 9277598611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is incorrect?

1. When we connect resistances in parallel, the total resistance is smaller than the smallest of the resistances involved.
2. Multimeter consists of Ammeter, Voltmeter and Ohm meter.
Choose the correct code.

Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2
4. % Neither 1 nor 2

Question Number : 101 Question Id : 9277598611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad 7 ¥ ST HUF 7Tad 82

1. 99 §H GHR %8 H UfeRIe®] &1 Siied g df URTY & $ot UfoRiY &1 A J99 HH UaRiyd & a4 9 N FA a1 |
2. AeTHeR § 3mifier, dreeHiex 3R 3fiH HieX gid ]

Tl ple |

Options :

1. % odd |

2. % Hdd 2

3. % M1 3R 2

4. A1 3AMRAE 2

Question Number : 102 Question Id : 9277598612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Compute the heat generated while transferring 100 kC of charge in one hour through a potential difference of 75V.
Options :



1. * 7.0MJ
2.¥75MJ
3. % 8.1MJ
4, % 8.4 MJ

Question Number : 102 Question Id : 9277598612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

75 diee & fAHATR TR 100 kC & AR B 1 G H RIFIR B H IdTGd S Bt TUHET I |
Options :

1. % 7.0 MJ

2.¥ 7.5MJ

3. % 8.1 MJ

4. % 84MJ

Question Number : 103 Question Id : 9277598613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following devices work on the principle of electromagnetic induction?
Options :

1. % Electric kettle

2. % Electric bell

3. % Electric lamp

4. ¥ Electric generator

Question Number : 103 Question Id : 9277598613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fraffed o @ 1 I1 IuwBRU faggd I 19 IR0 & Rigid W 1 BT 2

Options :

1. % Zoifded dbadt



2. % Soifdee °el
3. % gafdesd o
4. ¢ Zalfdcdh SR

Question Number : 104 Question Id : 9277598614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is JC! a unit of?

Options :

1. ¥ Potential

2. # Current

3. % Resistance

4. ¥ Charge

Question Number : 104 Question Id : 9277598614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
iC! fh T HE &7

Options :

1. ¢ faya &1

2. ® YRI b1

3. % YRIY B

4. % A BT

Question Number : 105 Question Id : 9277598615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is/are true?

1. Motion is a combined property of the object under study and the observer.
2. There is absolute rest or absolute motion.
Choose the correct code.



Options :

1. ¥ Only 1

2. % Only 2

3. % Both 1 and 2
4. # Neither 1 nor 2

Question Number : 105 Question Id : 9277598615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & T o I/ $UT a9 8/8?

1. 7T Sreqgefi axg SR Ve&idh o1 Ugad 0T §
2. FARUe form a1 FRua iy §

T D18 I |

Options :

1. ¥ $ad |

2. % dhad 2

3. % gl 1 3R 2

4. % Fd1 3R 2

Question Number : 106 Question Id : 9277598616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The dimension of acceleration is-
Options :

1. % L13

2. % L7l

3.¢ LT

4. % LT

Question Number : 106 Question Id : 9277598616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
@RI T faHT =1 82

Options :

1. % L7T3

2. % 77!

3¢ LT?

4. % LT

Question Number : 107 Question Id : 9277598617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The force of attraction (F) between two particles having masses mj and m, is givenby . (If r is the distance between them and G is a
universal constant)

Options :

Question Number : 107 Question Id : 9277598617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

m; 3R m, GSTHF aTd &1 HUI & a1 HTHY 9 (F) SR1 fear o1 § (@fe r 3% da &1 g3t § 8IR G U e Hadis ©)

Options :

Gmimz
1. =



Question Number : 108 Question Id : 9277598618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is/are true in connection with B-decay?

1. Neutron changes itself into proton.

2. A neutron emits an electron only.

3. A neutron emits an electron and a particle called anti-neutrino.
Choose the correct code.

Options :

1. * Only 1

2. % Only I and 2
3. % Only 3

4. % Only 1 and 3

Question Number : 108 Question Id : 9277598618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

p-&11 & aY H FEfiied 3 ¥ &1 91A $3- 93 8/6?
1. g e 1 Uel & §ea A1 ¢

2. g AT Ueh FAILI SN el T
3. U Y U Faae - 3R T BT BT Iooi ddl g o Ufa-~gfe= &gl ST 3|

T D18 I |




Options :

1. % $ad 1|

2. % Had 1 3R 2
3. % $dd 3

4. ¥ Had 1 3R 3

Question Number : 109 Question Id : 9277598619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Weak forces are-

Options :

1. # like gravitational forces

2. % like electromagnetic forces

3. # like nuclear forces

4. ¥ different from gravitational, electromagnetic and nuclear forces

Question Number : 109 Question Id : 9277598619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HHSIR & 8-

Options :

1. % TSQAIHYU gl D1 IRG

2. % {43gd JEDIY §al bl IRg

3. % TRAY] §cll &l a8

4. ¢ TTeAIHYU, [aggd IrIe 1 SR URATY] §al F 31a

Question Number : 110 Question Id : 9277598620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is true about Pascal’s Law?
Options :



1. ¥ If the pressure in a liquid is changed at a particular point, the change is transmitted to the entire liquid, without being diminished in
magnitude.

2. # If the pressure in a liquid is changed at a particular point, the change is not transmitted to the entire liquid.

3. # If the pressure in a liquid is changed at a particular point, the change is transmitted to that point only, without being diminished in
magnitude.

4. ® If the pressure in a liquid is changed at a particular point, the change is transmitted to the entire liquid, with diminished magnitude.

Question Number : 110 Question Id : 9277598620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R d & o8 & aR J FafaRed 9 o w1 9 82

Options :

1. ¢ 3 fordh Ra & gara fopdt faxiy fog IR aed foan oirar &, df uRad R arva & fomr ufvamr o &t & daikd 81 Sarg |
2. % e fordlt IR H gaTd fodl foRiy foig IR gt foan Siran &, df uivadd @Y avad & Said g1 sidT 6|

3. % gfe forxft faxiv foig IR 5a # qaTa 9gd ora &, Ot uRad dbad 39 foig W v grar g, uiRemor & &t feu fam )

4. % I fodll R o gaTd forelt famiy foig WR St e STt &, ot uRaa QX aRa & URaTor § St o |1y Saikd 81 oiidl o |

Question Number : 111 Question Id : 9277598621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a device to measure the pressure in a closed vessel containing a gas.
Options :
1. ¥ Barometer
2. ¥ Manometer
3. # Aspirator pump
4. ® Venturi Tube

Question Number : 111 Question Id : 9277598621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 119 g oG i H 18 {10 & fiT T SUaRuT 5 |

Options :



1. % 9Ig-GI4-AUdH
2. ¥ SIS
3. % gIa=Ny® 4y
4. % do al

Question Number : 112 Question Id : 9277598622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 atmospheric pressure =

Options :

1.¥ 1.01 x 10° Pa

2. % 1.01 x10'9Pa

3. % 2,01 x10°Pa

4. % 1.01 x 108 Pa

Question Number : 112 Question Id : 9277598622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
| AIgHSH GId =

Options :

1.¥ 1.01 x 10° Pa

2. % 1,01 x100pa

3. % 201 x10°Pa

4. % 1,01 x 108 Pa

Question Number : 113 Question Id : 9277598623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The basic laws of reflection of light are applicable for -

1. Plain smooth surfaces



2. Curved smooth surfaces
Choose the correct code.

Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2
4. # Neither 1 nor 2

Question Number : 113 Question Id : 9277598623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ehTRI & IRIaaH & Hd (g fhd IR a 8id 82

1. TraT faeHl Idg

2. YHTGGR o+l Tdg
Tl D18 I |
Options :

1. % $Had |

2. % Had 2

3. gl 1 3R 2

4. % Fd1 3R 2

Question Number : 114 Question Id : 9277598624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A virtual image 1s formed at the point-

1. from where the rays seem to diverge.
2. where the reflected rays intersect.
Choose the correct code.

Options :
1. ¥ Only 1
2. % Only 2



3. % Both 1 and 2
4. % Neither 1 nor 2

Question Number : 114 Question Id : 9277598624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T SMURA ufafaes foig R aan g -

1. oigi 3 fopol Frepad) ueitd gt 81
2. Sgt TRTafed fpul ufdese St g
el pls |

Options :

1.« &Had |

2. % Had 2

3. % g1 3R 2

4. % A1 3RAE 2

Question Number : 115 Question Id : 9277598625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In case of lateral magnification of image, which of the following is true?

1. The height of the object (placed perpendicular to the principal axis) is taken to be positive.
2. The height of the image is taken to be positive.

3. The height of the image may be taken as positive or negative in different cases.

Choose the correct code.

Options :

1. % Only 1

2. % Only 1 and 2
3. % Only 3

4. % Only 1 and 3

Question Number : 115 Question Id : 9277598625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Sfad e 3T F A B, FefefRa d I s I aa 82

1. fone (g 3t & daad Tt TS) Bl Sdls B YIS AT ST 5 |
2. Bfd B HAS IHRIAD AFT ST g |

3. Bfd B HATS B fafe ATHA & YHRIAS T THRIAD & U & AT ST 5 |
g D18 I |

Options :

1. % &Had 1

2. % Had 1 3R 2

3. % $Hdd 3

4. ¢ HIA 1 3R 3

Question Number : 116 Question Id : 9277598626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For vacuum the refractive index is-
Options :

1. # less than 1

2. % equal to 0

3. ¥ equal to 1

4. % more than 1

Question Number : 116 Question Id : 9277598626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafd 3 fom wmder sroadHias &-
Options :

1. % 14$HY

2. % b SRR

3. ¢ 1 & RIR



4. % 1 9 34

Question Number : 117 Question Id : 9277598627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In case of total internal reflection, the entire light is back into the medium.
Options :

1. ¥ reflected, first

2. % reflected, second

3. #* refracted, first

4. ® refracted, second

Question Number : 117 Question Id : 9277598627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

quf 3fdRe WadT & AMA &, yHrrdqef gl auy . Aregw H S al o
Options :

1. ¢ Rafdd, gyH

2. % Rafdd, fgdta

3. % 3afdd, gud

4. % 3gafa, fgdia

Question Number : 118 Question Id : 9277598628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The surfaces of a lens maybe -

1. Both convex
2. Both concave
3. One convex and one concave

Options :
1. # Only 1



2. % Only2
3. % Only2and 3
4.4 1,2 and 3

Question Number : 118 Question Id : 9277598628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T oY DI g -

1. ST 3Tl B Wehdl B

2. T 3add B b &

3. T% 309 3R TS 3fadd g1 Iohd &
Options :

1. % &Had 1

2. % Had 2

3. % Had2 3R 3

4.¢1,23R3

Question Number : 119 Question Id : 9277598629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 atomic mass unit (u) is equivalent to about of energy.
Options :

1. ¥ 931 MeV

2. % 691 MeV

3. % 949 MeV

4. ® 654 MeV

Question Number : 119 Question Id : 9277598629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
| (TehIopdl) URHATY] S| HIED (u) TTHT Sl & Ja eIl gl




Options :

1. ¥ 931 MeV
2. % 691 MeV
3. % 949 MeV
4. ® 654 MeV

Question Number : 120 Question Id : 9277598630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following kinds of waves is/are audible?

1. Infrasonic waves
2. Ultrasonic waves
Choose the correct code.

Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2
4. ¢ Neither 1 nor 2

Question Number : 120 Question Id : 9277598630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & 3 f5g UeR &) a3 40 8/8?

1. SRS a4

2. RIS al
el pIS |
Options :

1. % $ad 1|

2. % Had 2

3. % g1 3R 2

4. FA1RAE 2
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Question Number : 121 Question Id : 9277598631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A wave of wavelength 0.60 cm is produced in air and it travels at a speed of 300 ms™!. What will be the frequency of the wave?
Options :



1. ¥ 50 kHz
2. # 55kHz
3. # 60 kHz
4. % 65 kHz

Question Number : 121 Question Id : 9277598631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0.60 cm TR 1 Th T I | ITF BIdll § 3R T8 300 ms™! 1 AT F ST & | AT D1 3MRY 1 gfe
Options :

1. ¥ 50 kHz

2. % 55kHz

3. % 60 kHz

4, % 65 kHz

Question Number : 122 Question Id : 9277598632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When a particle is projected upwards, its kinetic energy-
Options :

1. #* increases

2. % decreases

3. # remains unchanged

4. % can’t be determined

Question Number : 122 Question Id : 9277598632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o fdl fus & SR Pt 3R uaftd faar Srar g, d STt 1fas Soil-
Options :

1. % §gdl g



2. ¥ Ygcdt g
3. % JuRafda T/ g
4. ® fyiRa e fpur S g

Question Number : 123 Question Id : 9277598633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the resultant force acting on a particle is perpendicular to its velocity then-

1. The speed of the particle changes.

2. The speed of the particle does not change.

3. Kinetic energy of the particle does not change.
Choose the correct code.

Options :

1. % Only 1

2. % Only 1 and 3
3. % Only 2 and 3
4. % Only 3

Question Number : 123 Question Id : 9277598633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe Tt ST IR T T URUmH 96 IS9P a7 & d9dd gl l -

1. U D! T Fd S g |

2. BV B} TIfd T8} Feald g

3. U &1 TSl Soll T8t dedd ol
el pls |

Options :

1. % %ad |

2. % Pad 1 3R 3

3. ¢ Had 2 3R 3

4. % Hdd 3




Question Number : 124 Question Id : 9277598634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A particle of mass 40 g is thrown vertically upwards with a speed of 10 ms™!. Find the work done by the force of gravity during the time the
particle goes up.

Options :

1.%-1.0J
2.9-20])
3.%-0.20J
4. % -040]J

Question Number : 124 Question Id : 9277598634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

40 I G & U U08 B 10 ms™! BT A1 F IeafeR FWR B 3R BT oIl g | FITE & HWR o & SR [l yul §d gRT foam
BT F1d B

Options :

1.%-1.01J

2.¥-201]

3.%.020)

4.% 04017

Question Number : 125 Question Id : 9277598635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a limitation of geothermal energy?

Options :

1. # If harnessed incorrectly, geothermal energy can produce pollutants.

2. % Improper drilling into the earth can release hazardous minerals and gases.

3. % Geothermal power plant sites are prone to running out of steam in the long run.

4. ¥ Geothermal Power plants have very high running costs.



Question Number : 125 Question Id : 9277598635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e § Q S a1 S &) Far T8 2

Options :

1. % g T dRib I SUIANT {1 STl &, A Y-aTi Soll Ugie Sad B qdhd! ¢ |

2. % gt § rgfud fSfeit Warare wiel ik i1 & B1s b« ]

3. % SdPIA Al H Yt Soll W T &1 4 I o -9 BT ST BT W1 38 ¢ |
4. AT faggd T &1 gRaTe anTd 9gd i gidi o |

Question Number : 126 Question Id : 9277598636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect?

Options :

1. ¥ About 60 percent of the incoming solar radiation is absorbed by the upper atmospheres.
2. # Solar power plants can not produce energy if the sun is not shining.

3. % Establishment of solar power stations can be very expensive.

4. % Solar panels need to be regularly maintained and cleaned to continue generating electricity.

Question Number : 126 Question Id : 9277598636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafiRad # Q o I By Ted 82

Options :

1. ¢ 37 aTal IR fAfBRur BT TIHAT 60 Ufa=rd UL argHSd GRT AR foar ST g |

2. % TR YROT 18] IHS TET § dl TR SHoll G4, SHolf BT IATG Ta! B b ¢ |

3. % R Foll WHT P RITGHT 9gd A 81 Jobell B

4. % fooTelt IaTe ORY IWH & o IR U9al o1 fRufid =0 9§ 991 Raq 3R A% A &1 HTaHdT 5 |




Question Number : 127 Question Id : 9277598637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Large amounts of crops high in sugar or starch content are grown, and then fermented with yeast to produce-
Options :

1. ¥ Ethanol

2. # Methane

3. % Fertilizers

4, % Petroleum

Question Number : 127 Question Id : 9277598637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QT T TRgad Bl B dg THM TR Wl &1 St 8 3R Ud o &1 fovad fbmrsnarg aifs . s 9|
Options :

1. ¢ I

2. % HYT

3. % IRD

4. % Uelferay

~

Question Number : 128 Question Id : 9277598638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When a magnesium ribbon is burnt in oxygen, it gets converted to
Options :

1. ¥ Magnesium oxide

2. % Magnesium hydride

3. % Magnesium chloride

4. ¥ Magnesium dioxide

Question Number : 128 Question Id : 9277598638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

o9 U TR Rea ot sfRficH A Saman ST e, g W uRafdad g1 s gl
Options :

1. ¢ TRy siiqrgs

2. % THREH EESES

3. % TR wWRES

4. ® TRFY SEeTRTSS

Question Number : 129 Question Id : 9277598639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Complete the equation: Zinc + Sulphuric acid — Zinc sulphate +
Options :

1. # Oxygen

2. % Water

3. % Hydrogen

4. % QOzone

Question Number : 129 Question Id : 9277598639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B B R B Foih + GergRep T8 - b Tethe +
Options :

1. % 3fTeitor

2. % 9ld

3. ¥ gIggIoH

4. % 3l

Question Number : 130 Question Id : 9277598640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is the correct equation for the process of respiration?
Options :
L% C3Hiz Og(aq) + 6COy(aq) —6COx(aq) + 6H20 (1) + energy

) % CsHi120s(aq) + 60(aq) — 6COz(aq) + 6H20 (1) + energy

. CsHiz Os(aq) + 602(aq) — 6COx(aq) + 6H20 (1) + energy

4 % CsH120s(aq) + 602(aq) — 6COx(aq) +Ha (1)+ energy

Question Number : 130 Question Id : 9277598640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3§ 1 uferan & fore fofafed § @ o a1 arfte w82

Options :
| % C3Hiz Og(aq) + 6CO;(aq) —6C0O2(aq) + 6HO (1) + Sl

, % CeHnOs(aq) + 60(aq) — 6COx(aq) + 6H:0 (1) + Sl

3 CeHiz Os(aq) + 602(aq) — 6COz(aq) + 6H,O (1) + el

4 % CeHnOs(aq) + 602(aq) — 6COx(aq) +Ha (1)+ Sl

Question Number : 131 Question Id : 9277598641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The process of dissolving an acid or a base in water is a highly one.



Options :
1. ¥ Exothermic
2. # Endothermic
3. % Slow

4. % Unreactive

Question Number : 131 Question Id : 9277598641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH A AR B I O pr ufpar e gt gl
Options :

1. ¥ SHeHTat

2. % FHEHTRIS!

3. % il

4. % Hebig

Question Number : 132 Question Id : 9277598642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When pH of rain water is less than , it is called acid rain.
Options :

1. * 7.0

2.% 175

3.¥56

4. % 8.0

Question Number : 132 Question Id : 9277598642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S aui ofd &1 pH A HH I &, dl I 3 au Hgd & |

Options :



1. * 7.0
2.% 175
3.¥56
4. % 8.0

Question Number : 133 Question Id : 9277598643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tooth enamel, made up of is the hardest substance in the body.
Options :

1. # Calcium silicate

2. # Calcium bicarbonate

3. % Calcium sulphate

4. ¥ Calcium hydroxyapatite

Question Number : 133 Question Id : 9277598643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SABEIA, A TGl g ol IR BT 9 HoR Ierd gt gl
Options :

1. % pfekrgH Rycfidre

2. % HfeRgH TZHEAC

3. % PHicRH Iabhe

4. ¢ HfexY gEgiRiUezZe

Question Number : 134 Question Id : 9277598644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The non-metals are either solids or gases except which is a liquid.

Options :
1. # Iodine



2. % Mercury
3. % Bromine

4. % Sulphur

Question Number : 134 Question Id : 9277598644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JUGA AT A TGS, bact DI BISH ol Bl U TRl o
Options :

1. % AISH

2. % ORI

3. ¢ I

4. % e

Question Number : 135 Question Id : 9277598645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Alkali metals have-

Options :

1. ® high densities and low melting points.
2. ¥ low densities and low melting points.
3. # low densities and high melting points.

4. ® high densities and high melting points.

Question Number : 135 Question Id : 9277598645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&R 4T &-

Options :

1. % I Id 3R HH TTTH 8id §
2. ¢ HH Y9 3R HH TP 8id &




3. % BHH Y9 3R I T 8id §
4. % I 99 3R I D 8Id §

Question Number : 136 Question Id : 9277598646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Anodising is a process of forming a thick oxide layer of
Options :

1. # Sulphur

2. % Aluminium

3. % Phosphorus

4. % Chlorine

Question Number : 136 Question Id : 9277598646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSR 1 T HIdT SHRIgs WRd -1 &1 Ufhar 8|
Options :

1. % TYdH

2. ¢ TGHHTH

3. % BHIEhRY

4. % FARM

Question Number : 137 Question Id : 9277598647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Metal like reacts with cold water so violently and in an exothermic way that the evolved hydrogen immediately catches fire.
Options :

1. # Calcium

2. % Zinc

3. ¥ Potassium



4. ¥ Magnesium

Question Number : 137 Question Id : 9277598647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IO 38 UM P 1Y S v iR SeHiadt asies ¥ Siffehar SRl § o S8 Sfid gIggioH dabTd Ussaterd gl ol |
Options :

1. % Hickrg\

2. % {5

3. ¢ TicRrm

4. % ORI

Question Number : 138 Question Id : 9277598648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The boiling point of Ethanol (CH3;CH,OH) is:
Options :

1. ¥ 351 K

2. % 111K

3. % 334K

4, % 391 K

Question Number : 138 Question Id : 9277598648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ZTA B HYFIH (CH;CH,OH) ©:
Options :

1. ¥ 351K

2. % 111K

3. % 334K

4, % 391 K



Question Number : 139 Question Id : 9277598649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following, each carbon atom is bonded to four other carbon atoms forming a rigid three-dimensional structure?
Options :

1. % Graphite

2. % Diamond

3. #% Carbon dioxide

4. % Such a kind doesn’t exist

Question Number : 139 Question Id : 9277598649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o ¥ forad Ude wTe- TRATY] IR 3] HIa RATU[ST I §¢T BIdl § 3R Th HSR H-STATH AT ST 82
Options :

1. % I

2. ¥ BRI

3. % PHIo SISIRISS

4. % T UHR HINE T8l &

Question Number : 140 Question Id : 9277598650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following of an element have similar chemical properties, but different atomic masses?
Options :

1. ¥ Isotopes

2. % Isotones

3. # Isobars

4. # Isodiaphers

Question Number : 140 Question Id : 9277598650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafefea o 9 ford aa & T e 1o 8, dfe fafte o goom 82
Options :

1. ¢ TS (Isotopes)

2. % Wm(lsotones)

3. % gOYIRS (Isobars)

4. ® g«qidﬂ rgu'onuH (Isodiaphers)
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Question Number : 141 Question Id : 9277598651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Electronic configuration of resembles that of alkali metals.
Options :

1. % Lithium

2. ¥ Hydrogen

3. # Chlorine

4. % Zinc

Question Number : 141 Question Id : 9277598651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

_ ®IZqeeHd (9 &R U1gsh & HH BT |
Options :

1. ® ferfgs

2. ¥ GIggIoH

3. % RIRM

4, % SRl

Question Number : 142 Question Id : 9277598652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1913, Henry Moseley showed that the of an element is a more fundamental property than its atomic mass.
Options :

1. ¥ Atomic number

2. % Strength

3. ¥ Viscosity

4. % Density



Question Number : 142 Question Id : 9277598652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1913, g R Aa A oum fr fpft qa &1 Ich TR SHHH &1 gaT H 31fiies Mifere o 5|
Options :

1. ¢ URHTY] T&=AT

2. #® died

3. % GAdI

4, % Ydd

Question Number : 143 Question Id : 9277598653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With increase in temperature the of the particles of the matter also increases.
Options :

1. % Weight

2. ¥ Kinetic energy

3. ¥ Static energy

4. % Mass

Question Number : 143 Question Id : 9277598653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # R

2. ¢ TIfAS Sl

3. % Wide Sl

4. % gHMH



Question Number : 144 Question Id : 9277598654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following definitions of latent heat of fusion is correct?

Options :

1. ¥ The amount of heat energy that is required to change 1 kg of a solid into liquid at atmospheric pressure at its melting point is known as the
latent heat of fusion.

2. % The amount of heat energy that is required to change 1 g of a gas into liquid at atmospheric pressure at its melting point is known as the
latent heat of fusion.

3. # The amount of heat energy that is required to change 10 kg of a solid into liquid at atmospheric pressure at its melting point is known as the
latent heat of fusion.

4. ® The amount of heat energy that is required to change any amount of a solid into liquid at atmospheric pressure at its melting point is known
as the latent heat of fusion.

Question Number : 144 Question Id : 9277598654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e Bt UgW SS1 Bt Fafafad o 9 & I afeume T8t 82

?p;();rgq—s?ﬁnaam 1 forT 31 &1 I TS IR &d H dga & fore forat ST SHolf o1 SaaesdT il 7, 39 erd- & i
??;:‘riir$ | 1 &1 I TTerich IR AGHSTIY e TR % H Sge & o it So1 ol b1 Sl il 8, S IHera &l
?.{i;q\j);:g“lzdj; IR 10 [0 31 DI IP TTAIH TR &d H G- b o8 Tt ST ol &1 Saadhdl gkl §, 39 A B U
fﬁggﬁWlﬁumﬁw% TS IR agHSHT ald IR 59 H 9aa- & g ol SSAT Sl Bt STaRgehdl gldh ©, 39
AT B T & Hed gl

Question Number : 145 Question Id : 9277598655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The atmospheric pressure at sea level is , and is taken as the normal atmospheric pressure.
Options :



1. % 1 Pascal

2. ¥ | atmosphere (atm)

3. % 1.01 x 10° atmosphere (atm)
4. % 10 Pascal

Question Number : 145 Question Id : 9277598655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # 1 URPd

2. % | atmosphere (atm)

3. % 1.01 x 10° atmosphere (atm)

4. % 10 Uk

Question Number : 146 Question Id : 9277598656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states of matter is formed by cooling a gas of extremely low density, about one-hundred-thousandth the density of normal
air, to super low temperatures?

Options :
1. % Solid
2. % Liquid
3. % Plasma

4. ¥ Bose- Einstein condensate

Question Number : 146 Question Id : 9277598656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. % 39

2. % dqd

3. % TATGHT

4. ¢ Y- IARC_A HSTIC

Question Number : 147 Question Id : 9277598657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The rate of evaporation increases with:
Options :

1. # A decrease of surface area

2. ® A decrease of temperature

3. # Anincrease in humidity

4. ¥ An increase in wind speed

Question Number : 147 Question Id : 9277598657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gag A HHH

2. % qOAA A A Y

3. % gaTHgfs @

4. ¥ BAIBIMAA GG I

Question Number : 148 Question Id : 9277598658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The maximum number of electrons that can be accommodated in the outermost orbit is:
Options :

1. ®¥ 16



2. % 12
3. %10
4.9 8

Question Number : 148 Question Id : 9277598658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 16

2. % 12

3.% 10

4.9 8

Question Number : 149 Question Id : 9277598659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are called valence electrons?
Options :

1. ¥ The electrons present in the outermost shell of an atom.
2. # The electrons present in the innermost shell of a atom.
3. # The electrons which are present inside the nucleus.

4. ® The electrons which have no electric charge.

Question Number : 149 Question Id : 9277598659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 150 Question Id : 9277598660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The mass number is defined as the sum of the total number of present in the nucleus of an atom.
Options :

1. # Protons

2. # Electrons and protons

3. ¢ Protons and neutrons

4. % Neutrons

Question Number : 150 Question Id : 9277598660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % OIeA

2. % goagH AR WeH

3. v et ok et

4. % M

Question Number : 151 Question Id : 9277598661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Protium, Deuterium and Tritium are all isotopes of which of the following elements?
Options :

1. % Sodium

2. # Potassium

3. % Chlorine



4. ¥ Hydrogen

Question Number : 151 Question Id : 9277598661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Siferm, SRR oIk Rfeww Fafifed & 3 frg aa & arefis 2
Options :

1. ® Oifegn

2. % OrcRRmm

3. % FRIRM

4. GIggIoH

Question Number : 152 Question Id : 9277598662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An isotope of is used in the treatment of cancer.
Options :

1. # uranium

2. ¥ cobalt

3. % jodine

4. % chlorine

Question Number : 152 Question Id : 9277598662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Ty

2. ¥ Pldlec

3. % 3EAISH

4. % FARM




Question Number : 153 Question Id : 9277598663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are raw-materials required for making glass?
Options :

1. # Sodium carbonate and Limestone only.

2. ¥ Sodium carbonate, limestone and silica only.

3. # Limestone, Clay and Gypsum only.

4. ® Limestone, Silica and gypsum only.

Question Number : 153 Question Id : 9277598663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had ASTq HIEMHC R LA TRR |

2. ¢ Had JIfSTH HIEHe, AT IR R e

3. % Had I IR, T 3R forH |

4. % $Had g1 IR, fferet ok foreaqw |

Question Number : 154 Question Id : 9277598664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is prepared by a reaction of adipic acid and hexamethylenediamine?
Options :

1. # Bleaching powder

2. # Plaster of Paris

3. ¥ Nylon

4. ® Synthetic rubber

Question Number : 154 Question Id : 9277598664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % AT UIdeR

2. % TREX 3% Uy

3. ¢ A1

4. % RIfed IR

Question Number : 155 Question Id : 9277598665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which kind of drugs use divinyl ethers, cyclopropane?
Options :

1. ¥ Anaesthetics

2. #% Antibiotics

3. % Analgesics

4. ¥ Antacids

Question Number : 155 Question Id : 9277598665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ SEIRi 1 gar (Traafea)

2. % Ulanlies garsii

3. % T (SAD)

4. % TCIRYS

Question Number : 156 Question Id : 9277598666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following protozoan organism is responsible for sleeping sickness?
Options :

1. ¥ Trypanosarna

2. # Leshmania

3. % Sarcodina

4. ¥ Mycetozoa

Question Number : 156 Question Id : 9277598666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafiRad # 3 oI 91 Uicisiien siq e & $19R & forg e 82
Options :

1. ¢ feUANRAT

2. % =M@

3. % i

4. % HZHCIS

Question Number : 157 Question Id : 9277598667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following bacterium is responsible for peptic ulcers?
Options :

1. # E. coli

2. ¥ Helicobacter pylori

3. ® Clostridium perfringens

4. ¥ Chloroflexi

Question Number : 157 Question Id : 9277598667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % S PIATS

2. ¢ gUIDINCR TRIAR
3. % FIEISTH Rih1Y
4. % FIRIFARIT

Question Number : 158 Question Id : 9277598668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of Pteridophyta?
Options :

1. ¥ Marsilea

2. # Cladophora

3. # Funaria

4. ¥ Marchantia

Question Number : 158 Question Id : 9277598668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ \TRifera (Marsilea)

2. % FASIHRT (Cladophora)

3. % q'ﬁlﬁ_QT(Funaria)

4. ® TAfen (Marchantia)

Question Number : 159 Question Id : 9277598669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The oesophagus and the lining of the mouth are covered with epithelium.
Options :



1. ¥ squamous
2. % columnar
3. % cuboidal
4. % stratified

Question Number : 159 Question Id : 9277598669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. v W?m’gf(squamous)

2. % ARG (columnar)

3. # YATPR (cuboidal)

4. #® DR (stratified)

Question Number : 160 Question Id : 9277598670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not included in the five R’s to save the environment?
Options :

1. # Refuse

2. % Reuse

3. % Reduce

4. ¥ Reproduce

Question Number : 160 Question Id : 9277598670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ﬁ—qq\_ﬂ(Refuse)



2. % ﬁrﬂ\_ﬂ (Reuse)
3. % ﬁ_SiFI(Reduce)
4.9 ﬁ?ﬁ@\\_ﬂ (Reproduce)
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Question Number : 161 Question Id : 9277598671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a group of bacteria, found in human intestines, whose presence in water indicates contamination by disease-causing
microorganisms?

Options :

1. % Campilobacter
2. # Salmonella

3. % Coliform

4, % Listeria

Question Number : 161 Question Id : 9277598671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % HiAydadeR

2. % YIeHHA

3. ¢ BIfeTHH

4. % fereefan

Question Number : 162 Question Id : 9277598672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If one bacterium divides, and then the resultant two bacteria divide again, the four individual bacteria generated would be very similar. There
would be only very minor differences between them, generated due to:

Options :

1. # defects in their reproductive organs

2. # selection of variants by environmental factors
3. % advantages in survival

4. ¥ small inaccuracies in DNA copying

Question Number : 162 Question Id : 9277598672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Ib UoTT S H BRel

2. % TOTRUNT ®Re! gRTANTE BT 994

3. % 3R H A

4. « L Ufdpia & IHg =g Ffear

Question Number : 163 Question Id : 9277598673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In case of flowering plants, after fertilisation, the zygote divides several times to form an embryo within the
Options :

1. # Pollen tube

2. % Ovule

3. % Stigma

4. % Stamen

Question Number : 163 Question Id : 9277598673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % QRN fereT

2. ¢ diviig

3. % gfcfri

4. % G

Question Number : 164 Question Id : 9277598674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following flower is bisexual?
Options :

1. # Papaya

2. % Watermelon

3. % Hibiscus

4. ¥ Pumpkin

Question Number : 164 Question Id : 9277598674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gUidr

2. % dqol

3. ¥ I[ged Ul \ulgy

4. % hag

Question Number : 165 Question Id : 9277598675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following methods of reproduction is followed by Bryophyllum?
Options :

1. % Sporation

2. ¥ Vegetative propagation

3. # Binary fission

4. % Regeneration

Question Number : 165 Question Id : 9277598675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® Siogy fAaAT

2. ¢ HIS YaeH @ fde o)

3. % gl fade

4. % QoA

Question Number : 166 Question Id : 9277598676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is essential for the synthesis of thyroxin?
Options :

1. # Copper

2. % Jodine

3. % Sodium

4, % Potassium

Question Number : 166 Question Id : 9277598676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % qis

2. ¢ SIS

3. % gifsay

4. % TielRm|

Question Number : 167 Question Id : 9277598677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following structures protect the spinal cord?



Options :

1. ¥ Vertebral coloumn
2. % Epimysium

3. # Perimysium

4. % Fascicle

Question Number : 167 Question Id : 9277598677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ HAHCS

2. % 3ffeUfRrenT

3. % GArREH

4. % gferaT

Question Number : 168 Question Id : 9277598678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following endocrine gland releases growth hormone in all organs?
Options :

1. % Adrenal Gland

2. % Qvaries

3. ¢ Pituitary gland

4. % Thyroid gland

Question Number : 168 Question Id : 9277598678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. % UfgAa Uy
2. % 3SR
3. ¢ fugy 3y
4. % YIS UMY

Question Number : 169 Question Id : 9277598679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a part of neuron?
Options :

1. # Dendrite

2. % Axon

3. % Nucleus

4. ¥ Deltoid

Question Number : 169 Question Id : 9277598679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gffepT

2. % bl

3. % Bd

4. ¥ SEIHR

Question Number : 170 Question Id : 9277598680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where does the first step of nutrition in organisms, i.e., the break-down of glucose (a six-carbon molecule, into a three-carbon molecule called
pyruvate) takes place?

Options :

1. # chromatin



2. % mitochondria
3. # nucleus

4. ¥ cytoplasm

Question Number : 170 Question Id : 9277598680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Hiyfed

2. % AU

3. % B

4. ¥ DIRBIGH

Question Number : 171 Question Id : 9277598681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During the digestion in stomach,the hydrochloric acid creates an acidic medium which facilitates the action of the enzyme.
Options :

1. % papain

2. % trypsin

3. ¥ pepsin

4. # hydrolase

Question Number : 171 Question Id : 9277598681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % qU4

2. % fefRE




3. ¢ OfRH
4. % g3l

Question Number : 172 Question Id : 9277598682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following doesn’t happen during the process of photosynthesis?

Options :

1. ¥ Absorption of light energy by chlorophyll

2. # Conversion of light energy to chemical energy and splitting of water molecules into hydrogen and oxygen
3. % Reduction of carbon dioxide to carbohydrates

4. ¥ Releasing water vapour into air

Question Number : 172 Question Id : 9277598682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FARIUGA GRT UBTR SHoll bl Sa=Nd BT

2. % UHRN Sl I IMAAD Soll § SR BAT qUT ST SIS BT GIS SIS quT TR H 3aee
3. % PHIa- SSIHTRISS H HlATGSSc B AHTIT-

4. ¢ AT 1 I H Bre-1

Question Number : 173 Question Id : 9277598683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ fagmur

2. % I

3. % 3dcHl



4. % 3187

Question Number : 173 Question Id : 9277598683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The splitting of light into its component colours is called
Options :

1. ¥ dispersion

2. # bending

3. * inversion

4. % convulsion

Question Number : 174 Question Id : 9277598684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following defects can be corrected by using a convex lens of appropriate power?
Options :

1. # Presbyopia

2. ¥ Hypermetropia

3. ¥ Myopia

4. ® Cataract

Question Number : 174 Question Id : 9277598684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ORI gRarRidm

2. ¢ dide®

3. % Apee®

4. % Hifqara—<




Question Number : 175 Question Id : 9277598685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following regulates and controls the amount of light that enters the eye?

Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. Cornea

2. Iris

3. Pupil

4. Retina

Question Number : 175 Question Id : 9277598685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. BT

2. GRATRepT

3. gaait
4.3fen

Question Number : 176 Question Id : 9277598686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following can’t cause eutrophication?



Options :

1. # Nitrates

2. # Phosphates

3. % Ammonium salts
4. ¥ Oil slick

Question Number : 176 Question Id : 9277598686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TEccH

2. % BiEbC

3. % 3HIIH SFqur

4. ¥ i TRd

Question Number : 177 Question Id : 9277598687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
On which of the following does the natural aging of lakes NOT depend?

1. Climate
2. Size of the lake
Choose the correct code.

Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2
4. ¥ Neither 1 nor 2

Question Number : 177 Question Id : 9277598687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad § 9 SF9 SRS IR dl &1 Wihide Sra-uqTa- R 78t el g2

1. Sdarg
2. A BT MHR

Tl ple |
Options :

1. % $ad 1|

2. % Had 2

3. % g1 3R 2

4. FA1RAE 2

Question Number : 178 Question Id : 9277598688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following factors influence winds?

1. Rotation of the earth
2. Presence of mountain ranges
Choose the correct code.

Options :

1. % Only 1

2. % Only 2

3.4 Both 1 and 2
4. # Neither 1 nor 2

Question Number : 178 Question Id : 9277598688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fffead & ¥ & 91 RS ga13il &Y YHIfad B g2
1. Gl BT gl



2. Tad gaenasf &1 Iufdfa
Tl ple |

Options :

1. % $Had |

2. % Had 2

3. Gl 1 3R 2

4. % A1 3RAE 2

Question Number : 179 Question Id : 9277598689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect?

Options :

1. # Topsoil that is bare of vegetation, is likely to be removed very quickly.

2. % Vegetative cover on the ground has a role to play in the percolation of water into the deeper layers.
3. ¥ The process of soil erosion is very easy to reverse.

4. ® The soil that we see today in one place has been created over a very long period of time.

Question Number : 179 Question Id : 9277598689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed & I &1 91 S Tad g2

Options :

1. % U g St afa 9 3fed §, 9gd Siee! gel fou SH &t YU ]

2. % T & 78R IRl H Ya= 3 H SIHH TR g-yfel SM1aRul &1 YHHT gl 8|
3. ¢ TaT 3{REA &1 Ufohdl & Iae-T 9gd S g

4. % 31 gY Fort g} &) U RIF IR 3w §, 98 95 o I B 1 1S B

Question Number : 180 Question Id : 9277598690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is not a biogeochemical cycle?
Options :

1. # Water-cycle

2. # Nitrogen-cycle

3. % Oxygen-cycle

4. ¥ Ozone-cycle

Question Number : 180 Question Id : 9277598690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafifed # § S Sa-yI™mrafe 9% T8 82
Options :

1. % S-deh

2. % AZCISH-TUh

3. ® SfIRISH-Ih

4. SSIH-TIh
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Section Marks : 10

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9277598691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a crop that is a major source of essential fats?
Options :

1. # Black gram

2. % Millets

3. ® Pea

4. ¥ Mustard

Question Number : 181 Question Id : 9277598691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied & @ & O 0 B § S SHIaxas a9 &1 UHE Jid g7
Options :

1. % Il -l

2. % do}I

3. % HX

4. T4l




Question Number : 182 Question Id : 9277598692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is correct regarding crop-production management?
Options :

1. # There is no relation between higher inputs and yields.

2. % There is an inverse relation between higher inputs and yields.

3. ¥ There is a correlation between higher inputs and yields.

4. % There is sometimes a relation and sometimes no relation between higher inputs and yields.

Question Number : 182 Question Id : 9277598692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HHA-SMIG YaeH & IR FHafiRad $U= & 8 S g o7

Options :

1. % ONTeM, I A9 3R Ba e & ol His oy 81 7

2. % GRTEM, 3= AW 3R B IdIed & d19 U AUl Iay g

3. ¢ TRTGH, I 3% 3R BId IdTe & oI U Tg-Uae B

4. % I A9 3R BT IdTEA & a1 HHt-HH T Tay grar g 3R Hl-wft dis Jay T8l glar g

Question Number : 183 Question Id : 9277598693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is used as bio-pesticides in organic farming?
Options :

1. #® Recycled farm-wastes

2. % Blue-green algae

3. ¥ Neem leaves

4. ® Organic manures

Question Number : 183 Question Id : 9277598693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

FrafaRad & I foraeT SuanT vifad Wdl § ofd HieaRIe! & U | 61 Sl 82
Options :

1. % AR Qd-3mfy

2. % -8 AT

3.¢ A& Ud

4. % Jfqw @

Question Number : 184 Question Id : 9277598694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect about cattle farming?

Options :

1. ¥ Milk production depends totally on the duration of the lactation period.

2. ® Milk production can be increased by increasing the lactation period.

3. # Exotic or foreign breeds (for example, Jersey, Brown Swiss) are selected for long lactation periods.

4. ® Local breeds (for example, Red Sindhi, Sahiwal) show excellent resistance to diseases

Question Number : 184 Question Id : 9277598694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfRad o ¥ ®1F 1 S URUIeH & 9 § 7Ted 82

Options :

1. ¥ G I 31 aRE ¥ gUAaUI & 3afy R R Hrar gl

2. % AU 3AfY TG gY I IG[AT Sl Yl g |

3. % o YUY dP GrUTaUl HId o forg fae=ht e o St Si1e1 ey &1 g1d axa g |
4. % =0 T o YeRieh, Argtara ® I ufeRkiyed &mar 9gd S gl g

Question Number : 185 Question Id : 9277598695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Fish culture can be done in combination with which of the following crops?
Options :

1. ® Cotton

2. % Rice

3. ® Wheat

4. % Groundnuts

Question Number : 185 Question Id : 9277598695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aol a4 S8 Bad & Iy W fbar &1 oar g2
Options :

1. ® dUNy

2. ¥ Y+

3. % T8

4. % THAL

Question Number : 186 Question Id : 9277598696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many nutritive elements are required by plants?
Options :

1. % 12

2. % 14

3.¥ 16

4. % 18

Question Number : 186 Question Id : 9277598696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Teff & foTe St o Ui dcdl &1 SHTaRaddT It 62

Options :



1. % 12
2. % 14
3.¥ 16
4. % 18

Question Number : 187 Question Id : 9277598697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Parathion and Sevin are sprayed on young plants to-
Options :

1. # quicken their growth.

2. ¥ prevent pests and diseases.

3. # protect them from excessive sunlight.

4. # protect them from excessive cold.

Question Number : 187 Question Id : 9277598697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gaT urell 1R IR 3R Afa &1 fes e a fasar ST &-
Options :

1. % It e | Sl o1 b ferw|

2. ¢ BIct 3R SR I A & feru|

3. % 3% AP §Uu q g9 & forg)

4. % I D &S Y I & feru|

Question Number : 188 Question Id : 9277598698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Artificial insemination can be done for—

1. Horses



2. Goats
Choose the correct code.

Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2
4. ® Neither 1 nor 2

Question Number : 188 Question Id : 9277598698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HY dRReH & forg forar s A & -

4. % a1 3MRAE 2

Question Number : 189 Question Id : 9277598699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When soap is added to hard water, which contains calcium and magnesium ions, what precipitate is formed?
Options :

1. # Calcium or Magnesium chlorides

2. # Calcium or Magnesium phosphates

3. ¥ Calcium or Magnesium stearates

4. % Calcium or Magnesium sulphates



Question Number : 189 Question Id : 9277598699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HAR oI foraH heRraH SR AR & 39 81 &, Tig- & 1y fAaH: fhdd sfaéy s 82
Options :

1. % PHickrgy o1 THiREH wiREs

2. % HicRry a1 ARy widhe

3. ¢ Shferragd a1 By TRy

4. % PHickrgw o1 AR Ihe

Question Number : 190 Question Id : 9277598700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an exclusive example of industrial sources of soil pollution?
Options :

1. % Kitchen waste

2. % Fertilizers

3. # Plastic bottles

4. ¥ Fly ash

Question Number : 190 Question Id : 9277598700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad o ¥ 1 I g1 Uguu & 3iEnfies Hidl &7 U Ay Imerur 82
Options :

1. % 9IS Uy

2. % IRD

3. % WIRCD Dl diddl

4. TS URT
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Question Number : 191 Question Id : 9277598701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a state of mind which reflects likes and dislikes of the learner?
Options :

1. ¥ Attitude

2. % Aptitude



3. # Maturation

4. # Intelligence

Question Number : 191 Question Id : 9277598701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed 3 3 oF @ o7 31 Ryl & S Rremlf 31 e SR ATvie 3 g=iidt 82
Options :

1. ¢ O

2. % B

3. % ORUSHT

4. % gfg

Question Number : 192 Question Id : 9277598702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An average of how many words are accumulated in a child of 6 years?
Options :

1. % About 3550 words

2. % About 2560 words

3. % About 1500 words

4. % About 860 words

Question Number : 192 Question Id : 9277598702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 I & I & Reqracil § SHIa b eg Afed B1d 67
Options :

1. # THIT 3550 Vo

2. % TITHIT 2560 Ro

3. % TTHIT 1500 e




4. % TTHIT 860 Req

Question Number : 193 Question Id : 9277598703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the chairman of the review committee which in 1977 recommended that science at the secondary stage should be offered through two
equivalent alternate courses?

Options :

1. ¥ Ishwarbhai Patel
2. # Ravindran K.

3. ¥ Raghavendra Sai

4. % Rajeev Tyagi

Question Number : 193 Question Id : 9277598703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T gHe A & sreger oI A el 1977 & e & ot f Areafiie TR W o7 &1 < SHG e At UIsashHl & Aregd 3 0w
foan ST AT E?

Options :

1. ¢ YIS Ucd

2. # ISP

3. % U AT

4. % i Grft

Question Number : 194 Question Id : 9277598704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following class range falls under the Primary Stage?
Options :

1. ¥ -V

2. % [-VII

3. % II-VI



4. # III-VI

Question Number : 194 Question Id : 9277598704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & § &1 1 o vrafies =Ror 3 sfafa simar g2
Options :

1. v 1-V

2. % [-vII

3. % II-VI

4. % 1II-VI

Question Number : 195 Question Id : 9277598705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The SITE experiment was started in the 1970s. What does it stand for?
Options :

1. #® Science Induced Technological Experiment

2. # Science Influenced Television Education

3. ¥ Satellite Instructional Television Experiment

4. % Satellite Instructional Television Education

Question Number : 195 Question Id : 9277598705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SITE TRANT 1970 & &R & Y= T T UT| $HhT Yul-=0 &1 87
Options :

1. % ISY SIS i JRURAT

2. % UEY SRIUIS Callfde TSbhRH

3. ¢ YIdrse SWRM calfde TRTURHe

4. % JIAZC SCARMA Cailfao TbRH




Question Number : 196 Question Id : 9277598706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many general teaching moves were identified by Henderson in 1963 as being essential to teach any rule?
Options :

1. %2

2.%3

3.¥ 4

4. %5

Question Number : 196 Question Id : 9277598706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1963 H ¥4 gRT frdd} ot w1 ug & e smawaes feam I fRreur sl ot ugaH ot TS o
Options :

1. %2

2.% 3

3.4

4. %5

Question Number : 197 Question Id : 9277598707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which teaching method is Kilpatric associated with?
Options :

1. # Discovery method

2. % Heuristic method

3. ¥ Project method

4. # Role playing method

Question Number : 197 Question Id : 9277598707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

forertfees o Riem ugfa ¥ Wefid g2
Options :

1. % drof fafdr

2. % WHHidSH fafy

3. ¢ ORI (Project) fafd

4. % Jd R fafd

Question Number : 198 Question Id : 9277598708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a function of a teacher?

1. Maintaining record of pupil's attendance.
2. Planning for curricular and co-curricular activities.
Choose the correct code.

Options :

1. % Only 1

2. % Only 2

3.4 Both 1 and 2
4. ¥ Neither 1 nor 2

Question Number : 198 Question Id : 9277598708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 @ &1t Rige &1 o1 &

1. foenfal &) Iufufa &1 Rers @

2. UTSTAT 3R YB-UTsashH Tiafafiat &1 g S|
T D18 g |

Options :

1. ® Had 1



2. % Had 2
3.9 1 3iR28AT
4. % A1 AT 2

Question Number : 199 Question Id : 9277598709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a characteristic of learning process?

Options :

1. # Learning is goal-directed.

2. ¥ Learning is a passive process.

3. % Learning is the outcome of the interaction of the individual with the environment.

4. % Learning is intentional.

Question Number : 199 Question Id : 9277598709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferied & & 1 T siftrm ) uftear &) faivar 72 2
Options :

1. % 3t dea-FERE B

2. ¢ ST U RfSpg ufbar g

3. % ST qafaRol o W1y Afad o1 3id:fosar BT aRomm 5|
4. % 3fTH IWBIEU R

Question Number : 200 Question Id : 9277598710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Bandura (1977) how many distinct processes are involved in observational learning?
Options :

1. %2

2. %3



3.¥ 4
4. %5

Question Number : 200 Question Id : 9277598710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IGRT (1977) P SHIER aaip ey H forat fafkrs uferamg =nfia &2
Options :

1. %2

2.% 3

3.¥°4

4. % 5



